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1-A

R-5

*R5-A-1**R5-A-1*

Booklet Code A

PAPER - III  (ù||üsY  ` III)
INSTRUCTIONS TO THE CANDIDATE (nuÛÑ́ ]úøÏ dü÷#·q\T)
(Read the Following instructions carefully before Answering)

(»yêãT\T |üP]+#˚ eTT+<äT ~>∑Te dü÷#·q\qT C≤Á>∑‘·Ô>± |ü]o*+#·e …̋qT)
1. Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along with Question Paper

Booklet. Please read and follow the instructions on the OMR Answer Sheet for marking the correct response.
nuÛÑ́ s¡Tú\≈£î Á|üXÊï|üÁ‘·+ ãTø˘̋ …{Ÿ‘√ bÕ≥T Ä|æºø£̋ Ÿ e÷sYÿ Ø&ÉsY (zm+ÄsY) »yêãT |üÁ‘·+ n+~+#·ã&ÉTqT. nuÛÑ́ s¡Tú\T
»yêãT\T Ç#˚Ã eTT+<äT zm+ÄsY »yêãT |üÁ‘·+ô|’ ñqï dü÷#·q\T C≤Á>∑‘·Ô>± |ü]o*+#·e …̋qT.

2. The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly
printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure
that the booklet code printed on OMR Answer Sheet is same as the Question Paper Booklet
code supplied to you.
nuÛÑ́ ]ú zm+ÄsY »yêãT|üÁ‘·+ô|’ πø{≤sTT+∫q Á|ü<̊X̄+˝À Vü‰ Ÿ̋{Ï¬ø{Ÿ q+ãsY eT]j·TT ù|s¡T dü]>± Á|æ+{Ÿ nsTTq<ë Ò̋<ë
nì dü]#·÷düTø√e …̋qT. nuÛÑ́ ]ú ‘·q≈£î Ç∫Ãq zm+ÄsY »yêãT |üÁ‘·+ MT<ä eTTÁ~+∫q ãTø˘̋ …{Ÿ ø√&é, Ç∫Ãq Á|üXÊï|üÁ‘·+
MT<ä eTTÁ~+∫q ãTø˘̋ …{Ÿ ø√&é ˇø£fÒ nsTTq<√ Ò̋<√ dü]#·÷düTø=qe …̋qT.

3. This booklet contains 200 Questions and candidates shall answer all of them in 180 minutes.

á Á|üXÊï|üÁ‘·+ ãTø̆ …̋{Ÿ̋ À 200 Á|üX̄ï\T ñHêïsTT eT]j·TT nuÛÑ́ s¡Tú\T M≥ìï+{Ïø° 180 ì$TcÕ\˝À »yêãT\T |üP]+#·e …̋qT.
4. One mark will be awarded for every correct answer for post code 11 and half mark for post code 13.

There are no negative marks.
dü¬s’q Á|ür »yêãT≈£î b˛dtº ø√&é 11 ≈£î ̌ ø£ e÷s¡Tÿ, b˛dtº ø√&é 13 ≈£î ns¡ e÷s¡Tÿ πø{≤sTT+#·&É+ »s¡T>∑T‘·T+~. m≥Te+{Ï
s¡TD≤‘·àø£ e÷s¡Tÿ\T Ò̋e⁄.

5. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check
for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions (1-200),
(iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to the invigilator
and ask for replacement of booklet with same code within five minutes from the commencement of the test.
ˇø£kÕ] Á|üXÊï|üÁ‘·+ ãTø˘̋ …{Ÿ d”̋ ŸqT $&ÉBdæq yÓ+≥H˚ nuÛÑ́ s¡Tú\T eTTK´+>± (i) ‘·eT≈£î πø{≤sTT+∫q ãTø˘̋ …{Ÿ ø√&é
m / _ / dæ / &ç Á|ür ù|Jô|’ ñqï<√ Ò̋<√ |ü]o*+#·Tø√e …̋qT, (ii) 1 qT+&ç 200 es¡≈£î Á|üX̄ï\T es¡Tdü Áø£eT+˝À ñqï$
Ò̋ì$ |ü]o*+#·Tø√e …̋qT, (iii) ù|J\ dü+K´ eT]j·TT (iv) dü¬s’q eTTÁ<äD. ô|’q ù|s=ÿqï $wüj·÷\˝À @<Ó’Hê ‘·|ü\T <=]¢q

jÓT&É\ nuÛÑ́ s¡Tú\T ‘·eT |üs¡́ ẙø£å≈£îì <äèwæºøÏ rdüT≈£îyÓ[¢ |üØø£å ÁbÕs¡+uÛÑyÓTÆq 5 ì$TcÕ\˝À Á|üXÊï|üÁ‘êìï e÷s¡TÃø√e …̋qT.
6. Answers to the questions must be entered only on OMR Answer Sheet by completely shading the appropriate

circle with Ball Point Pen (Blue or Black) only.
˙\+ ̋ Ò<ë q\T|ü⁄ u≤ Ÿ̋bÕsTT+{Ÿ ô|qTï‘√ zm+ÄsY »yêãT|üÁ‘·+ô|’ |üP]Ô>± dü¬s’q eè‘êÔìï mqTï≈£îì »yêãTqT |üP]+#·e …̋qT.

7. The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
zm+ÄsY »yêãT |üÁ‘·+ô|’ eè‘·Ô+˝À ô|ì‡ Ÿ̋‘√ s¡T~›Hê Ò̋<ë ˇø£ eè‘·ÔeTT˝À ø£Hêï m≈£îÿe eè‘êÔ\˝À ∫qï #·Tø£ÿ ô|{ÏºHê

Ò̋<ë s¡T~›Hê n$ eT÷\´+ø£HêìøÏ |ü]>∑DÏ+#·ã&Ée⁄.
8. Change of answer is NOT Allowed.

»yêãTqT m{Ïº |ü]dæú‘·T\˝ÀqT e÷s¡TÃ≥≈£î nqTeT‹+#·ã&É<äT.
 The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the

appropriate circle of  (1), (2), (3) or (4) in the OMR Answer Sheet with Blue / Black Ball Point Pen, as
it is not possible to change or erase once darkened.
ˇø£kÕ] zm+ÄsY »yêãT|üÁ‘·+ô|’ |üP]+∫q »yêãTqT #Ós¡|ü&É+ ≈£î<äs¡<äT ø±ã{Ïº nuÛÑ́ s¡Tú\T ≈£åîDí+>± Ä˝À∫+∫ »yêãTqT
˙\+ ̋ Ò<ë q\T|ü⁄ u≤ Ÿ̋bÕsTT+{Ÿ ô|qTï‘√ (1), (2), (3) ̋ Ò<ë (4) eè‘êÔ\˝À ̌ ø£ eè‘êÔìï mqTï≈£îì |üP]+|üe …̋qT.

PTO

          Signature of the Invigilator

S. No.

SET CODE
Booklet Code

A

35553

R-5

(To be filled by the Candidate)

Hall Ticket Number
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2-A

R-5

*R5-A-2**R5-A-2*

Booklet Code A
 Use of Eraser or White Fluid on the OMR Answer Sheet is not permitted as the OMR Answer Sheet

is machine gradable and it may lead to wrong evaluation.
eT÷˝≤´+ø£q+ j·T+Á‘·+ Ä<Ûës¡+>± #˚j·TT≥ e\q zm+ÄsY »yêãT |üÁ‘·+ô|’ yÓ’{Ÿ |òüP¢sTT&é >±ì, s¡ã“s¡T >±ì
yê&ÉT≥≈£î nqTeT‹ ̋ Ò<äT.

9. The OMR Answer Sheet will not be valued if the candidate:
nuÛÑ́ ]ú zm+ÄsY »yêãT |üÁ‘·+ô|’ á ~>∑Te ù|s=ÿqï$ #˚dæq jÓT&É\ »yêãT|üÁ‘·+ eT÷˝≤´+ø£q+ #˚j·Tã&É<äT:
(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided

for the purpose,
zm+ÄsY »yêãT |üÁ‘·+ô|’ dü÷∫+∫q Á|ü<˚X¯+˝À ø±ø£ Vü‰ Ÿ̋{Ï¬ø{Ÿ HÓ+ãsYqT yπ̊s Á|ü<˚X¯+˝À mø£ÿ&É Áyêdæqf…Ì¢qqT,

(b) Writes any irrelevant matter including religious symbols, words, prayers or any communication what
so ever in any part of the OMR Answer Sheet,
zm+ÄsY »yêãT |üÁ‘·+ô|’ eT‘·|üs¡yÓTÆq ∫Vü‰ï\T, |ü<ë\T, >∑Ts¡TÔ\T, ÁbÕs¡úq\T eTπs Ç‘·s¡ ndü+ã+<ÛäyÓTÆq düe÷#ês¡+
Áyêdæqf…Ì¢qqT,

(c) Adopts any other malpractice.
m≥Te+{Ï <äTÅwüŒes¡Ôq≈£î bÕ\Œ&çqqT.

10. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall.
|üØø£å Vü‰\T˝ÀøÏ m≥Te+{Ï m\Åø±ºìø˘ |ü]ø£sê …̋’q nq>± ôd Ÿ̋bǫ̀ Hé, ù|»sY, ø±*≈£î´ Ò̋≥sY, m\Åø±ºìø˘ yêN\T, >∑DÏ‘· / ̋ ≤>¥
ãTø̆\T nqTeT‹+#·ã&Ée⁄.

11. Rough work should be done only in the space provided in the Question Paper Booklet.
Á|üXÊï|üÁ‘·+ ãTø˘̋ …{Ÿ̋ À πø{≤sTT+∫q Á|ü<˚X¯+˝À e÷Á‘·y˚T s¡|òt esYÿ #˚düTø√e …̋qT.

12. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination.
nuÛÑ́ ]ú ̌ ø£kÕ] |üØøå± Vü‰\T˝ÀøÏ Á|üy˚•+∫q ‘·sê«‘· |üØøå± düeTj·T+ eTT–ùd es¡≈£î ãj·T≥≈£î |ü+|üã&És¡T.

13. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
nuÛÑ́ ]ú ‘·q Á|üXÊï|üÁ‘·+ ãTø̆ …̋{Ÿô|’ πø{≤sTT+∫q Á|ü<̊X̄+˝À |üs¡́ ẙø£å≈£îì jÓTTø£ÿ dü+‘·ø£+ rdüTø=qe …̋qT. n˝≤H̊ zm+ÄsY
»yêãT|üÁ‘·+ô|’ nuÛÑ́ ]ú πø{≤sTT+∫q Á|ü<˚X¯+˝À ‘·q dü+‘·ø£+ #˚j·Te …̋qT.

14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rolls.
Hê$Tq Ÿ̋ s√ Ÿ̋‡ô|’ ìπs›•+∫q Á|ü<˚X¯+˝À nuÛÑ́ ]ú Á|üXÊï|üÁ‘·+ ãTø˘̋ …{Ÿ ø√&é eT]j·TT <ëì Áø£eT dü+K´qT ‘·|üŒìdü]>±
Áyêj·Te …̋qT eT]j·TT ìπs›•+∫q Á|ü<˚X¯+˝À dü+‘·ø£+ #˚j·Te …̋qT.

15. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to return the
OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper
Booklet shall be taken away by the candidate and should be preserved till the declaration of results.
|üØøå± Vü‰\T qT+∫ ãj·T≥≈£î yÓ[¢q|ü⁄&ÉT zm+ÄsY »yêãT|üÁ‘êìï |üs¡´ẙø£å≈£îìøÏ n+<äCÒj·Te …̋qT. zm+ÄsY »yêãT|üÁ‘·+
n+<äCÒj·Tì#√ nuÛÑ́ ]úô|’ ø£]ƒq #·s¡́ \T rdüTø√e&É+ »s¡T>∑T‘·T+~ eT]j·TT n‘·&ç |òü*‘ê\qT ì\Te]+#·ã&ÉTqT
($‘Y ôV≤ Ÿ̋¶). nuÛÑ́ ]ú á Á|üXÊï|üÁ‘·eTTqT ‘·q yÓ+≥ rdüT≈£îyÓfi¢̄e#·TÃqT eT]j·TT |òü*‘ê\qT yÓ\¢&ç+#˚ es¡≈£î Á|üXÊï|üÁ‘·+
ãTø˘̋ …{ŸqT ‘·eT e<ä› C≤Á>∑‘·Ô>± uÛÑÁ<ä|üs¡TÃø√e …̋qT.

 NOTE: If any ambiguity arises in translations in any question, then the text/matter stated in English
version shall be treated as final, since the Question Paper Booklet is printed in two languages
viz. English / Telugu or English / Urdu.
@<Ó’Hê Á|üX¯ï nqTyê<ë\˝À ndüŒwüº‘· ñ+fÒ, Ç+ ¢̂wt̋ À ù|s=ïqï f…ø˘‡º/$wüj·T+ dü]jÓÆTq~>± uÛ≤$+#·e …̋qT.
m+<äTø£+fÒ Á|üXÊï|üÁ‘·+ ãT¬ø¢{Ÿ ¬s+&ÉT uÛ≤wü\˝À (Ç+ ¢̂wt/‘Ó\T>∑T Ò̋<ë Ç+ ¢̂wt/ñs¡÷›) eTTÁ~+#·ã&çq~.

This booklet consists of 48 Pages including Cover Page and Pages of Rough Work.
á Á|üXÊï|üÁ‘·+ ãTø˘̋ …{Ÿ ø£es¡Tù|J eT]j·TT s¡|òt esYÿ ù|J\‘√ ø£*|æ 48 ù|J\T ø£*– ñqï~.

https://applink.adda247.com/d/XhqWf9lSap
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3-A

R-5

*R5-A-3**R5-A-3*

Booklet Code A

1. If 
1 1 1 1 1 2 3

2006 2009 2009 2012 2012 2015 2015 2018 2018 2021 2006 2021

k 
    

     
,

then k =

1 1 1 1 1 2 3

2006 2009 2009 2012 2012 2015 2015 2018 2018 2021 2006 2021

k 
    

     

nsTT‘˚, n|ü&ÉT k =

(1) 3 (2) 4 (3) 5 (4) 6

2. If 
5

20 189 63 90 15 171
7

       holds good when two symbols denoting the arithmatic

operations in it are interchanged, then they are

5
20 189 63 90 15 171

7
       dü]b˛e&ÜìøÏ <ëì˝À >∑Ts¡TÔ\ <ë«sê dü÷∫+#·ã&çq ¬s+&ÉT n+ø£>∑DÏ‘·

|ü]ÁøÏj·T\qT ‘ês¡Te÷s¡T #̊j·Te\dæ ñ+~, n$
(1) +, × (2) ÷, × (3) ×, – (4) +, ÷

3.
1 6 5 3 4 1 3

of
4 10 4 4 6 2 4
     

(1)
1

8
(2)

1

6
(3)

1

4
(4)

1

2

4. 182 + 202 + 222 + ... + 362 =
(1) 7620 (2) 7480 (3) 7420 (4) 7360

Time : 3 Hours Marks : 200/100

Instructions :
(i) One mark will be awarded for every correct answer for post code 11 and half mark for

post code 13. There are no negative marks.

dü¬s’q Á|ür »yêãT≈£î b˛dtº ø√&é 11 ≈£î ˇø£ e÷s¡Tÿ, b˛dtº ø√&é 13 ≈£î ns¡ e÷s¡Tÿ πø{≤sTT+#·&É+
»s¡T>∑T‘·T+~. m≥Te+{Ï s¡TD≤‘·àø£ e÷s¡Tÿ\T Ò̋e⁄.

(ii) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with Blue/Black Ball Point Pen the corresponding digit (1), (2), (3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately provided to you.

~>∑Te Ç∫Ãq Á|ü‹ Á|üX¯ï≈£î Çe«ã&çq yê{Ï̋ À dü]jÓÆTq düe÷<ÛëqeTTqT mqTïø=ì <ëìì dü÷∫+#˚
n+¬ø (1), (2), (3) Ò̋<ë (4) y˚s¡T>± Ç∫Ãq OMR düe÷<Ûëq |üÁ‘·eTT˝À Á|üX¯ï≈£î dü+ã+~Û+∫q
dü+K´>∑\ eè‘êÔìï ˙\+ Ò̋<ë q\T|ü⁄ u≤ Ÿ̋ bÕsTT+{Ÿ ô|qTï ñ|üjÓ÷–+∫ ì+|üe …̋qT.

https://applink.adda247.com/d/XhqWf9lSap
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4-A

R-5

*R5-A-4**R5-A-4*

Booklet Code A
5. If 2–x = 3y = 18z, then x, y and z are in

(1) arithmetic progression (2) geometric progression
(3) harmonic progression (4) arithmetico-geometric progression

2–x = 3y = 18z nsTT‘˚, x, y eT]j·TT z \T
(1) n+ø£ÁX‚&Ûç̋ À ñ+{≤sTT (2) >∑TDÁX‚&Ûç̋ À ñ+{≤sTT
(3) Vü≤sê‘·àø£ÁX‚&Ûç̋ À ñ+{≤sTT (4) n+ø£>∑TDÁX‚&Ûç̋ À ñ+{≤sTT

6. 2 2 2 2

1 1 1 1
...

2 1 4 1 6 1 24 1
    

   

(1)
27

62
(2)

23

32
(3)

25

72
(4)

12

25

7.
3 33 3

1 1 5 3

2 3 5 2 3 5 16 4 1 16 4 1

                 

(1) 2 (2)
1

2
(3) 6 (4)

1

2 3

8. If  
2

3
3

5
2

4
7

p
q
 




, then 
3

2

p q

q p






2
3

3
5

2
4

7

p
q
 




 nsTT‘˚, n|ü&ÉT 3

2

p q

q p






(1)
516

305
(2)

576

305
(3)

617

315
(4)

716

345

9. If a 3-digit number 4a3 when added to the number 984 results in a four digit number 13b7
which is divisible by 11, then b2 – a2 =

ˇø£ eT÷&ÉT n+¬ø\ dü+K´ 4a3 øÏ dü+K´ 984 qT ø£*|æq|ü&ÉT e∫Ãq Hê\T>∑T n+¬ø\ dü+K´ 13b7

qT, 11 ìX‚Ùwü+>± uÛ≤–düTÔ+fÒ, n|ü&ÉT b2 – a2 =

(1) 80 (2) 72 (3) 64 (4) 60

https://applink.adda247.com/d/XhqWf9lSap
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5-A

R-5

*R5-A-5**R5-A-5*

Booklet Code A
10. The remainder obtained when 4

1000
 is divided by 7 is

4
1000

 ì 7 #˚ uÛ≤–+∫q|ü&ÉT e#·TÃ X‚wü+
(1) 3 (2) 4 (3) 5 (4) 6

11. If 232 + 1 is divisible by a certain natural number x (≠1), then the number that is also divisible
by that x is

ˇø£ ì]›wüº düVü≤» dü+K´ x (≠1) #˚ 232 + 1 uÛ≤–+|üã&ç‘˚, n|ü&ÉT n<˚ dü+K´ x #˚ uÛ≤–+|üã&˚ dü+K´
(1) 216 + 1 (2) 248 + 1 (3) 296 + 1 (4) 216 – 1

12. The digit in the units place of the product 365 × 659 × 771 is

365 × 659 × 771  \ã∆eTT jÓTTø£ÿ ˇø£≥¢ kÕúq+˝Àì n+¬ø
(1) 1 (2) 2 (3) 4 (4) 6

13. If 919 + 6 is divided by 8, then the remainder obtained is

919 + 6  ì 8 #˚ uÛ≤–+∫q|ü&ÉT e#˚Ã X‚wüeTT
(1) 7 (2) 5 (3) 4 (4) 3

14. x, y, z are consecutive positive integers such that x < y < z. If the digit in the units place of
x2 is 6 and the digit in the units place of y2 is 9, then the digit in the units place of z2 is

x, y, z  \T x < y < z nj˚T´≥≥T¢>± ñqï es¡Tdü <Ûäq |üPsêí+ø±\T. x2 jÓTTø£ÿ ̌ ø£≥¢ kÕúqeTT˝Àì n+¬ø
6 eT]j·TT y2 jÓTTø£ÿ ˇø£≥¢ kÕúqeTT˝Àì n+¬ø 9 nsTT‘˚, n|ü&ÉT z2 jÓTTø£ÿ ˇø£≥¢ kÕúqeTT˝Àì
n+¬ø
(1) 1 (2) 2 (3) 4 (4) 5

15. The number of zeros occurring at the end of the resulting number of the product
12 × 18 × 15 × 40 × 25 × 16 × 55 × 105 is

12 × 18 × 15 × 40 × 25 × 16 × 55 × 105 \ã∆eTT <ë«sê \_Û+#˚ dü+K´ jÓTTø£ÿ ∫es¡̋ À dü+uÛÑ$+#˚
düTHêï\ dü+K´
(1) 5 (2) 6 (3) 4 (4) 8

16. A 21 digit number N is obtained by writing the consecutive natural numbers side by side
starting from 1. If that number N is divided by 11, then the remainder obtained is

1 qT+&ç >∑\ es¡Tdüü düVü≤» dü+K´\qT ˇø£<ëì Á|üø£ÿq eTs=ø£<ëìì 21 n+¬ø\T >∑\ dü+K´ N >±
@s¡Œ&˚≥≥T¢ sêkÕs¡T. Ä dü+K´ N qT 11 #˚ uÛ≤–+#·>± e#˚Ã X‚wü+
(1) 7 (2) 6 (3) 5 (4) 3

https://applink.adda247.com/d/XhqWf9lSap
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R-5
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Booklet Code A
17. The nearest integer to the mean proportional of 40,000 and 90,000 which when divided by

each of 8, 15 and 21 leaves the remainder 1 is

8, 15  eT]j·TT 21\ ˝Àì Á|ü‹<ëì#˚ uÛ≤–+∫q|ü&ÉT 1ì X‚wüeTT>± Çdü÷Ô, 40,000 eT]j·TT
90,000 jÓTTø£ÿ nqTbÕ‘· eT<Ûä́ eT+ (mean proportional) q≈£î n‹ <ä>∑Zs¡̋ À ñ+&˚ |üPsêí+ø£+
(1) 58,801 (2) 59,241 (3) 59,641 (4) 60,481

18. If the sum of a pair of numbers is 528 and their HCF is 33, then the number of all such
possible pair of numbers is

ˇø£ »‘· dü+K´\ yÓTT‘·ÔeTT 528 eT]j·TT yê{Ï >∑.kÕ.uÛ≤. 33 nsTT‘˚, M\j˚T´ n˝≤+{Ï nìï
dü+K´\ »‘·\ dü+K´
(1) 8 (2) 7 (3) 6 (4) 4

19. The HCF of two numbers is 21 and their LCM is 4641. If one of those two numbers lies
between 200 and 300, then the difference of those two numbers is

¬s+&ÉT dü+K´\ jÓTTø£ÿ >∑.kÕ.uÛ≤. 21 eT]j·TT yê{Ï ø£.kÕ.>∑T. 4641. Ä ¬s+&ÉT dü+K´\˝À ˇø£{Ï
200 eT]j·TT 300 \ eT<Ûä́  (q&ÉTeT) ñ+fÒ, n|ü&ÉT Ä ¬s+&ÉT dü+K´\ eT<Ûä́  uÛÒ<ä+
(1) 84 (2) 105 (3) 126 (4) 147

20. The LCM of two numbers is 20 times their HCF and the sum of their LCM and HCF is
2520. If the first number is 480, then the ratio of the first and second numbers is

¬s+&ÉT dü+K´\ ø£.kÕ.>∑T. yê{Ï >∑.kÕ.uÛ≤.≈£î 20 ¬s≥T¢ eT]j·TT yê{Ï ø£.kÕ.>∑T. eT]j·TT >∑.kÕ.uÛ≤.\
yÓTT‘·Ô+ 2520. yê{Ï̋ À yÓTT<ä{Ï dü+K´ 480 nsTT‘˚, yÓTT<ä{Ï eT]j·TT ¬s+&Ée dü+K´\ eT<Ûä́  ìwüŒ‹Ô
(1) 3:4 (2) 4:5 (3) 5:6 (4) 3:5

21. x, y, z are three positive integers. If  LCM of x, y, z is 45; HCF of x, y, z is 3; LCM of x, y is
9; LCM of y, z is 15; LCM of z, x is 45, then z =

x, y, z \T eT÷&ÉT <Ûäq|üPsêí+ø±\T. x, y, z \ ø£.kÕ.>∑T. 45;  x, y, z \ >∑.kÕ.uÛ≤. 3; x, y \ ø£.kÕ.>∑T 9;

y, z \ ø£.kÕ.>∑T 15; z, x \ ø£.kÕ.>∑T 45 nsTT‘˚, n|ü&ÉT z =

(1) 30 (2) 12 (3) 15 (4) 25

22. The least perfect square number that is divisible by each of the numbers 16, 20, 24, 32 is

16, 20, 24, 32 dü+K´\˝À Á|ü‹<ëì#˚‘· uÛ≤–+|üã&˚ ø£ìwüº |ü]|üPs¡íes¡Z dü+K´
(1) 14400 (2) 13600 (3) 12460 (4) 12100

23. The least number when divided by each of the numbers 5, 6, 8, 9 and 15 leaves the remainder
one and is also divisible by 13 is

5, 6, 8, 9 eT]j·TT 15 \˝À Á|ü‹ dü+K´#˚‘· uÛ≤–+∫q|ü&ÉT e#˚Ã X‚wüeTT 1 ne⁄‘·÷ 13 #̊ ìX‚Ùwü+>±qT
uÛ≤–+|üã&˚ ø£ìwüº dü+K´
(1) 3861 (2) 3341 (3) 2301 (4) 3601
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24. If the sum of two positive integers each greater than 37 is 296 and if their H.C.F. is 37, then

their difference is

37 ø£+fÒ ô|<ä›$ nj˚T´ ¬s+&ÉT <Ûäq |üPsêí+ø±\ yÓTT‘·ÔeTT 296 eT]j·TT yê{Ï >∑.kÕ.uÛ≤. 37 nsTT‘˚,
n|ü&ÉT yê{Ï eT<Ûä́ >∑\ uÛÒ<äeTT
(1) 37 (2) 47 (3) 74 (4) 111

25. At each corner of a triangular field of sides 26 m, 28 m and 30 m if a Cow is tethered by
a rope of length 7 m, then the area (in sq. meters) lying in the triangular region ungrazed
by the cows is

26 MT., 28 MT. eT]j·TT 30 MT. uÛÑT»eTT\T>± >∑\ Á‹uÛÑTC≤ø±s¡+˝À ñqï ˇø£ πøåÁ‘·+ jÓTTø£ÿ Á|ü‹
os¡̧eTT e<ä› 7 MT≥s¡T¢ bı&Ée⁄ >∑\ Á‘ê&ÉT‘√ ˇø£ Äe⁄qT ø£{Ïºq|ü&ÉT Äe⁄\T y˚Tj·T&ÜìøÏ M\T ø±ì
Ä Á‹uÛÑT»eTT˝Àì ÁbÕ+‘·+ yÓ’XÊ\´+ (#·.MT.\˝À)
(1) 336 (2) 259 (3) 154 (4) 77

26. The lengths of the two parallel sides of a trapezium are 28 cm and 40 cm. If the length of
each of its other two sides is 12 cm, then the area (in sq. cms) of that trapezium is

ˇø£ düeT\+ã #·‘·Ts¡T“¤»+ jÓTTø£ÿ ¬s+&ÉT düe÷+‘·s¡ uÛÑTC≤\ bı&Ée⁄\T 28 ôd+.MT. eT]j·TT
40 ôd+.MT. <ëì $T–*q ¬s+&ÉT uÛÑTC≤\T ̌ ø=ÿø£ÿ{Ï 12 ôd+.MT. bı&Ée⁄ ñ+fÒ, n|ü&ÉT Ä düeT\+ã
#·‘·Ts¡T“¤»+ jÓTTø£ÿ yÓ’XÊ\´+ (#·.ôd+.MT.\˝À)
(1) 312 5 (2) 408 3 (3) 204 3 (4) 504 3

27. Water is pumped out of a tank through a circular pipe whose internal diameter is 7 cm and
the speed of the flow of water is 12 cm per second. If the rate of flow (cu.cm/sec) of any
fluid through a pipe is the product of the speed of fluid (cm/sec) and the area of cross
section (sq.cm) of that pipe, then the amount of water (in litres) pumped out in one hour is
(1000 cu.cm = 1 litre)

7 ôd+.MT. n+‘·s¡ yê´dü+ >∑*–q ˇø£ eè‘êÔø±s¡ ô|’|ü⁄ <ë«sê ˇø£ #Ós¡Te⁄˝Àì ˙{Ïì ãj·T≥≈£î
‘√&ÉT‘·THêïs¡T eT]j·TT Ä ˙{Ï Á|üyêVü≤+ y˚>∑eTT ôdø£qT≈£î 12 ôd+.MT. ˇø£ ô|’|ü⁄ >∑T+&Üb˛j˚T @<Ó’Hê
Á<äe+ jÓTTø£ÿ Á|üyêVü≤|ü⁄ πs≥T (|òüTq.ôd+.MT./ôdø£+&ÉT), Ä Á<äeeTT ẙ>∑eTT (ôd+.MT./ôdø£+&ÉT) eT]j·TT
Ä ô|’|ü⁄ jÓTTø£ÿ eT<Ûä´#˚Ã¤<ä yÓ’XÊ\´eTT (#·ˆˆôd+.MT.) \ \ã›eTT nsTT‘˚, n|ü&ÉT ˇø£ >∑+≥˝À
ãj·T≥≈£î |ü+|ü>∑*π> ˙{Ï |ü]e÷DeTT (©≥s¡¢̋ À) (1000 |òüTqˆˆôd+.MT = 1 ©≥s¡T)
(1) 1663.2 (2) 1500 (3) 1747.6 (4) 2000

28. If a solid cone of height 15 cm and base diameter 30 cm is carved out of a wooden sphere
of radius 15 cm, then the percentage of wood that is wasted, is

15 ôd+.MT. yê´kÕs¡ú+ ø£*–q #Óø£ÿ (ø=j·T´) >√fi¯+ qT+&ç 15 ôd+.MT. m‘·TÔ eT]j·TT 30 ôd+.MT.\
uÛÑ÷ yê´düeTT >∑\ ˇø£ |òüTq X¯+KTe⁄qT #ÓøÏÿ‘˚, n|ü&ÉT eè<Ûë nsTTq #Óø£ÿ XÊ‘·+
(1) 75% (2) 50% (3) 40% (4) 60%
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29. If the sum of the radii of two spheres is 10 cm and the sum of their volumes is 322000
cm

21
,

then the ratio of the surface areas of the two spheres is

¬s+&ÉT >√fi≤\ yê´kÕsêú\ yÓTT‘·Ô+ 10 ôd+.MT. eT]j·TT yê{Ï |òüTq|ü]e÷D≤\ yÓTT‘·Ô+ 
22000

21
 |òüTq

ôd+.MT. nsTT‘˚, n|ü&ÉT Ä ¬s+&ÉT >√fi≤\ ñ|ü]‘·\ yÓ’XÊ˝≤´\ ìwüŒ‹Ô
(1) 3:2 (2) 1:1 (3) 2:1 (4) 3:4

30. If the volumes of a sphere and a hemi-sphere are equal, then the ratio of their radii is

ˇø£ >√fi¯+ eT]j·TT ˇø£ ns¡ú>√fi¯+\ |òüTq |ü]e÷D+\T düe÷q+ nsTT‘˚, n|ü&ÉT yê{Ï yê´kÕsêú\
ìwüŒ‹Ô

(1) 1:2 (2) 1:8 (3) 1: 2 (4) 31: 2

31. The base of a pyramid is a regular hexagon of side 2a cm. If every slant edge of this pyramid

is of length 
5

2

a
 cms, then the volume (in cubic cms) of this pyramid is

ˇø£ |æs¡$T&é jÓTTø£ÿ uÛÑ÷$T 2a  ôd+.MT. uÛÑT»eTT>± >∑\ ˇø£ Áø£eT wü&ÉT“¤õ. á |æs¡$T&é jÓTTø£ÿ Á|ür

@≥yê\T n+#·T bı&Ée⁄ 
5

2

a
 ôd+.MT. nsTT‘̊, á |æs¡$T&é jÓTTø£ÿ |òüTq |ü]e÷D+ (|òüTq ôd+.MT.\˝À)

(1) 3a3 (2) 33 2a (3) 33 3a (4) 6a3

32. If three small solid spheres having diameters in the ratio 3:4:5 are casted by melting a
metallic solid sphere of diameter 12 cm, then the radius (in cm) of the smallest sphere is

12 ôd+.MT. yê´dü+ ø£*–q |òüTq ˝ÀVü≤|ü⁄ >√fi≤ìï ø£]–+∫, 3:4:5 ìwüŒ‹Ô̋ À yê´düeTT\qT ø£*–q
eT÷&ÉT ∫qï |òüTq>√fi≤\T>± b˛‘·b˛ùdÔ, n|ü&ÉT ø£ìwüº >√fi¯+ jÓTTø£ÿ yê´kÕs¡ú+ (ôd+.MT.\˝À)
(1) 3 (2) 6 (3) 1.5 (4) 4

33. If the radius of the base of a cone is 7 cm and its curved surface area is 550 sq.cm, then the

volume (in cm3) of that cone is

ˇø£ X¯+KTe⁄ jÓTTø£ÿ uÛÑ÷ yê´kÕs¡ú+ 7 ôd+.MT. eT]j·TT <ëì eÁø£‘·\ yÓ’XÊ\´+ 550 #·.ôd+.MT.
nsTT‘˚, Ä X¯+KTe⁄ jÓTTø£ÿ |òüTq |ü]e÷D+ (|òüTq ôd+.MT.\˝À)
(1) 1024 (2) 1232 (3) 1132 (4) 1324
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34. A person sells milk at Rs. 25 per litre. By adding some water to that milk and then selling at

Rs. 20 per litre, if he gets a profit equal to 25% on initial selling price, then the ratio of the
water to the milk in that mixture is

ˇø£ e´øÏÔ ©≥s¡T bÕ\qT 25 s¡÷ˆˆ\≈£î neTTà‘ê&ÉT. ÄbÕ\≈£î ø=+‘· ˙s¡T #˚]Ãq ‘·s¡Tyê‘· ©≥s¡T
20 s¡÷ˆˆ\ #=|üq neTà&É+ <ë«sê n‘·&ÉT ÁbÕs¡+uÛÑ (‘=*) neTàø£|ü⁄ <Ûäs¡ô|’ 25% ≈£î düe÷q+ nj˚T´
˝≤uÛ≤ìï bı+<äT‘·T+fÒ, n|ü&ÉT Ä $TÁX¯eT+˝À ˙s¡T eT]j·TT bÕ\ ìwüŒ‹Ô
(1) 13:16 (2) 19:22 (3) 9:16 (4) 12:5

35. The ratio of acid and water in 40 liters of mixture is 5:3. If 8 liters of the mixture is
removed and replaced with water, then the ratio of the acid and water in the resultant
mixture is

40 ©≥s¡¢ $TÁX¯eT+˝À j·÷dæ&é eT]j·TT ˙{Ï ìwüŒ‹Ô 5:3. á $TÁX¯eT+ qT+&ç 8 ©≥s¡¢qT ‘=\–+∫,
<ëì kÕúHêìï ˙{Ï‘√ ì+|æ‘˚, n|ü&ÉT Ä |òü*‘· $TÁX¯eT+˝À j·÷dæ&é eT]j·TT ˙{Ï ìwüŒ‹Ô
(1) 1:3 (2) 1:1 (3) 1:2 (4) 2:1

36. A person purchased 20 kg of sugar at Rs. 15 per kg and 30 kg of sugar at Rs. 13 per kg and

mixed them. Then in order to earn a profit of 
1

33 %
3

 on the cost price of the mixture, the

selling price (in Rs.) of the mixture per kg should be

ˇø£ e´øÏÔ øÏ̋ ÀÁ>±eTT s¡÷. 15 #=|üq 20 πøJ\ |ü+#·<ës¡qT eT]j·TT øÏ̋ ÀÁ>±eTT s¡÷. 13 #=|üq
30 øÏ̋ À Á>±eTT\ |ü+#·<ës¡qT ø=ì yê{Ïì $TÁX¯eT+ #˚kÕ&ÉT. Ä $TÁX¯eTeTT jÓTTø£ÿ ø=qïyÓ\ MT<ä

1
33 %

3
 ˝≤uÛÑ+ bı+<ë\+fÒ, Ä $TÁX¯e÷ìï neTàe\dæq <Ûäs¡ øÏ̋ ÀÁ>±eTT ˇøÏÿ+{ÏøÏ (s¡÷.\˝À)

(1) 20.00 (2) 17.40 (3) 28.00 (4) 18.40

37. Two varieties of rice worth Rs. 126 per kilogram and Rs. 135 per kilogram are mixed with
a third variety of rice in the ratio 1:1:2 respectively. If the mixture is worth Rs. 153 per kg,
then the price (in Rs.) of the third variety of rice per kilogram is

øÏ̋ ÀÁ>±eTT s¡÷. 126 eT]j·TT øÏ̋ ÀÁ>±eTT s¡÷. 135 <Ûäs¡ ø£*–q ¬s+&ÉT s¡ø£eTT\ _j·T´eTT\qT eT÷&Ée
s¡ø£+ _j·T´+‘√ es¡Tdü>± 1:1:2 ìwüŒ‹Ô̋ À ø£*bÕs¡T. á $TÁX̄eT+ $\Te øÏ̋ ÀÁ>±eTT s¡÷. 153 nsTT‘̊,
eT÷&Ée s¡ø£+ _j·T´+ yÓ\ (s¡÷.\˝À) øÏ̋ ÀÁ>±eTT ˇøÏÿ+{ÏøÏ
(1) 180 (2) 170 (3) 169.50 (4) 175.50
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38. Two vessels A and B contain milk and water mixed in the ratio 5:2 and 7:6 respectively. The

ratio of the quantities in which the mixtures in vessels A and B are to be mixed into vessel
C to obtain a new mixture with milk and water in the ratio 8:5 is

¬s+&ÉT bÕÁ‘·\T A eT]j·TT B \T es¡Tdü>± 5:2 eT]j·TT 7:6 ìwüŒ‹Ô˝À bÕ\T eT]j·TT ˙s¡T
$TÁX¯e÷ìï ø£*– ñHêïsTT. bÕ\T eT]j·TT ˙s¡T 8:5 ìwüŒ‹Ô̋ À ñ+&˚≥≥T¢>± bÕÁ‘· C ˝ÀìøÏ ˇø£ Áø=‘·Ô
$TÁX¯e÷ìï sêã≥º&ÜìøÏ, A eT]j·TT B bÕÁ‘·\˝Àì $TÁX¯e÷\ |ü]e÷D≤\qT ø£\|üe\dæq ìwüŒ‹Ô
(1) 4:3 (2) 13:9 (3) 5:6 (4) 7:9

39. The ratio of money available with P and Q is 4:5 and the ratio of money available with Q and
R is 5:6. If P has Rs. 280, then the amount of money (in Rs.) R has

P eT]j·TT Q \ e<ä› ñqï kıeTTà 4:5 ìwüŒ‹Ô̋ Àq÷, Q  eT]j·TT R \ e<ä› ñqï kıeTTà 5:6

ìwüŒ‹Ô̋ Àq÷ ñHêïsTT. P e<ä› s¡÷. 280 ñ+fÒ, R e<ä› ñqï kıeTTà (s¡÷.\˝À)
(1) 420 (2) 320 (3) 640 (4) 460

40. The ratio of the present ages of Prasad and Kiran is 7:5. If the ratio of their ages after
6 years is 4:3, then the present age (in years) of Kiran is

Á|ükÕ<é eT]j·TT øÏs¡DY\ jÓTTø£ÿ Á|üdüTÔ‘· ej·TdüT‡\ ìwüŒ‹Ô 7:5. Äs¡T dü+e‘·‡sê\ ‘·s¡Tyê‘· yê]
ej·TdüT‡\ ìwüŒ‹Ô 4:3 nsTT‘˚, Á|üdüTÔ‘·+ øÏs¡DY jÓTTø£ÿ ej·TdüT‡ (dü+e‘·‡s¡eTT\˝À)
(1) 30 (2) 32 (3) 34 (4) 42

41. The ratio of earnings of P and Q is 4:5. If the earnings of P is increased by 20% and the
earnings of Q is decreased by 20%, the new ratio of their earnings becomes 6:5. If Q’s
earnings is Rs. 1,500 after reduction, then the earnings (in Rs.) of P initially was

P eT]j·TT Q \ jÓTTø£ÿ dü+bÕ<äq\ ìwüŒ‹Ô 4:5. P dü+bÕ<äq 20% ô|]– eT]j·TT Q dü+bÕ<äq 20%

‘·–ZZ‘˚, yê] Áø=‘·Ô dü+bÕ<äq\ ìwüŒ‹Ô 6:5 ne⁄‘·T+~. ‘·–Zq ‘·s¡Tyê‘· Q dü+bÕ<äq s¡÷. 1,500  nsTT‘˚,
ÁbÕs¡+uÛÑ+˝À P jÓTTø£ÿ dü+bÕ<äq (s¡÷.\˝À)
(1) 1,500 (2) 2,000 (3) 2,500 (4) 2,250

42. Two friends P and Q had savings in the ratio 4:5. P and Q decided to buy a gift for their
sister, sharing the cost in the ratio 3:4. If after buying the gift it is noticed that the amount

left with P is 
2

3
 times his savings amount and the amount left with Q is Rs. 145, then the

value of that gift (in Rs.) is

P eT]j·TT Q nH˚ Ç<ä›s¡T ùdïVæ≤‘·T\ bı<äT|ü⁄\ ìwüŒ‹Ô 4:5. P eT]j·TT Q \T ˇø£ ãVüQe÷q|ü⁄
KØ<äTqT 3:4 ìwüŒ‹Ô˝À $uÛÑõ+#·T≈£îì #Ó*¢+∫, yê] k˛<ä]øÏ Ä ãVüQe÷Hêìï Çyê«\ì

ìs¡ísTT+#·Tø=Hêïs¡T. Ä ãVüQe÷q+ ø=qï ‘·sê«‘· P e<ä› $T–*q kıeTTà n‘·ì bı<äT|ü⁄˝À 
2

3
 e e+‘·T

n˙ eT]j·TT Q e<ä› $T–*q kıeTTà s¡÷. 145  n˙ >∑eTìùdÔ, Ä ãVüQe÷q+ KØ<äT (s¡÷.\˝À)
(1) 105 (2) 175 (3) 140 (4) 70
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43. Murthy’s savings and expenditure are in the ratio 2:3. If his income is increased by 10%

and his expenditure is also increased by 12%, the percentage increase in his savings is

eT÷]Ô jÓTTø£ÿ bı<äT|ü⁄ eT]j·TT Ks¡TÃ\ ìwüŒ‹Ô 2:3. n‘·ì Ä<ëj·T+ 10% ô|]– eT]j·TT Ks¡TÃ
≈£L&Ü 12% ô|]–‘˚, n‘·ì bı<äT|ü⁄˝Àì ô|s¡T>∑T<ä\ XÊ‘·+
(1) 7% (2) 11% (3) 6% (4) 13%

44. 12 boys, 18 women and 15 men working together earned Rs. 2,070 in a day. If the daily
wages of a man, a woman and a boy are in the ratio 4:3:2, then the sum of the daily wages of
1 man, 2 women and 3 boys (in Rs.) is

12 eT+~ u≤\Ts¡T, 18  eT+~ Åd”Ô\T eT]j·TT 15 eT+~ |ü⁄s¡Twüß\T ø£*dæ |üì#˚dæ ˇø£ s√E˝À
s¡÷. 2,070 dü+bÕ~+#ês¡T. ˇø£ |ü⁄s¡Twüß&ÉT, ˇø£ eTVæ≤fi¯ eT]j·TT ˇø£ u≤\Tì s√Eyê] y˚‘·qeTT\
ìwüŒ‹Ô 4:3:2 nsTT‘˚, n|ü&ÉT ˇø£ |ü⁄s¡Twüß&ÉT, Ç<ä›s¡T eTVæ≤fi¯\T eT]j·TT eTT>∑TZs¡T u≤\Ts¡ jÓTTø£ÿ
s√Eyê] y˚‘·Hê\ yÓTT‘·ÔeTT (s¡÷.\˝À)
(1) 240 (2) 180 (3) 205 (4) 135

45. The speeds of three cars are in the ratio 3:4:7. The ratio of the times taken by them to travel
the same distance is

eT÷&ÉT ø±s¡¢ y˚>±\ ìwüŒ‹Ô 3:4:7. ̌ πø <ä÷sêìï Á|üj·÷DÏ+#·&ÜìøÏ á eT÷&ÉT ø±s¡T¢ rdüT≈£îH˚ düeTj·÷\
ìwüŒ‹Ô

(1) 7:4:3 (2) 28:21:12 (3)
1 1 1

: :
7 4 3

(4) 3:4:7

46. A vendor purchased a mobile phone for Rs. 28,000. If the profit he obtained on that mobile
phone is equal to 30% of its selling price, then the selling price (in Rs.) of that mobile
phone is

ˇø£ yê´bÕ], yÓTTu…’̋ Ÿ bǫ̀ HéqT s¡÷. 28,000 \≈£î ø=qT>√\T #˚kÕ&ÉT. Ä yÓTTu…’̋ Ÿ bǫ̀ Héô|’ n‘·&ÉT bı+~q
˝≤uÛÑ+, <ëì neTàø£|ü⁄ <Ûäs¡̋ À 30% øÏ düe÷q+>± ñ+fÒ, Ä yÓTTu…’̋ Ÿ bǫ̀ Hé neTàø£|ü⁄ <Ûäs¡ (s¡÷ˆˆ\˝À)
(1) 32,000 (2) 34,000 (3) 45,000 (4) 40,000

47. In a division, the divisor is 4 times the remainder and the quotient is 7 times the divisor. If
the remainder is 7, then the least number that must be added to the dividend to make it
divisible by 9 is

ˇø£ uÛ≤>∑Vü‰s¡eTT˝Àì uÛ≤»ø£eTT X‚wüeTTq≈£î 4 ¬s≥T¢ eT]j·TT uÛ≤>∑|òü\+ uÛ≤»ø±ìøÏ 7 ¬s≥T¢>±
ñHêïsTT. X‚wü+ 7 nsTT‘˚, $uÛ≤»´eTT 9 #˚ uÛ≤–+|üã&Ü\+fÒ <ëìøÏ ø£\T|üe\dæq ø£ìwüº dü+K´
(1) 2 (2) 3 (3) 7 (4) 4
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48. The distance between two places A and B is 280 km. A car started at 8:30 a.m. from A

towards B at a speed of 40 kmph. Another car started at 10:00 a.m. from B towards A at a
speed of 70 kmph. The time at which both the cars meet each other is

(1) 11 a.m. (2) 12 midnight
(3) 12 noon (4) 11:30 p.m.

¬s+&ÉT Á|ü<̊XÊ\T A eT]j·TT B \ eT<Ûä́  <ä÷s¡+ 280 øÏ.MT. ˇø£ ø±s¡T A qT+&ç B yÓ’|ü⁄q≈£î >∑+≥≈£î
40 øÏ.MT. y˚>∑+‘√ 8:30 a.m. øÏ ãj·T\T<˚]+~. eTs√ ø±s¡T B qT+&ç A yÓ’|ü⁄q≈£î >∑+≥≈£î 70 øÏ.MT.
y˚>∑+‘√ 10:00 a.m. øÏ ãj·T\T<˚]+~. nsTT‘˚ ¬s+&ÉT ø±s¡T¢ ˇø£<ëìH=ø£{Ï ø£\TdüTø=H˚ düeTj·T+
(1) ñ<äj·T+ 11 >∑+≥\≈£î (2) ns¡úsêÁ‹ 12 >∑+≥\≈£î
(3) eT<Ûë´Vü≤ï+ 12 >∑+≥\≈£î (4) sêÁ‹ 11:30  >∑+≥\≈£î

49. Two trains of lengths 240 meters and 360 meters, cross each other completely in 20 seconds
while running in opposite directions. If the faster train takes 60 seconds to cross the slower
train when both the trains are running in the same direction, the time needed (in hours) for
the faster train to cover a distance of 1008 km is

240 MT≥s¡T¢ eT]j·TT 360 MT≥s¡¢ bı&Ée⁄\T >∑\ ¬s+&ÉT ¬s’fi¯ófl, e´‹πsø£ ~X¯˝À q&ÉTdüTÔqï|ü&ÉT
20 ôdø£q¢̋ À ˇø£<ëìH=ø£{Ï |üP]Ô>± <ë≥T‘êsTT. Ä ¬s+&ÉT ¬s’fi¯ófl π̌ø ~X¯̋ À q&ÉTdüTÔqï|ü&ÉT m≈£îÿe
y˚>∑+‘√ yÓfi¯óÔqï ¬s’\T HÓeTà~>± yÓfi¯óÔqï ¬s’\Tì <ë≥&ÜìøÏ 60 ôdø£qT¢ rdüT≈£î+fÒ, y˚>∑e+‘·yÓTÆq ¬s’\T
1008 øÏ.MT. <ä÷sêìï Á|üj·÷DÏ+#·&ÜìøÏ |üfÒº düeTj·T+ (>∑+≥\˝À)
(1) 10 (2) 12 (3) 14 (4) 16

50. In a 1500 m running race, the ratio of speeds of two runners A and B is 2:3. If A is ahead of
B with a start of 300 m in that race, then the winning person in the race and the difference
in the distance by which he wins the race, are

(1) A; 100 m (2) B; 100 m (3) B; 200 m (4) A; 200 m

1500 MT. |üs¡T>∑T|ü+<Ó+˝À bÕ˝§Z+≥Tqï Ç<ä›s¡T s¡qïs¡T¢ A eT]j·TT B \ y˚>±\ eT<Ûä́  ìwüŒ‹Ô 2:3.

Ä |ü+<Ó+ yÓTT<ä\j˚T´≥|üŒ{ÏøÏ, Ä |ü+<Ó+˝À B qT+&ç 300 MT <ä÷s¡+ eTT+<äT≈£î A ñ+fÒ, n|ü&ÉT
Ä |ü+<Ó+˝À ¬>*#˚ e´øÏÔ eT]j·TT m+‘· <ä÷s¡+ e´‘ê´dü+‘√ n‘·qT ¬>\TkÕÔ&√ Ä <ä÷s¡+
(1) A; 100 MT. (2) B; 100 MT. (3) B; 200 MT. (4) A; 200 MT.

51. The ratio of the times taken by three cars A, B and C to cover the same distance is 3:4:7. If
the speed of car A is 28 kmph more than that of car B, then the time (in hrs) needed by the
car C to cover a distance of 816 km is

A, B eT]j·TT C nH˚ eT÷&ÉT ø±s¡T¢ π̌ø <ä÷sêìï Á|üj·÷D+ #˚j·T&ÜìøÏ rdüT≈£îqï ø±\eTT\ ìwüŒ‹Ô
3:4:7. ø±s¡T A jÓTTø£ÿ y˚>∑+ ø±s¡T B y˚>∑+ ø£+fÒ >∑+≥≈£î 28 øÏ.MT. m≈£îÿe nsTT‘˚, 816 øÏ.MT.\
<ä÷sêìï Á|üj·÷D+ #˚j·T&ÜìøÏ ø±s¡T C øÏ |üfÒº düeTj·T+ (>∑+≥\˝À)
(1) 20 (2) 14 (3) 17 (4) 11
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52. A and B together can do a piece of work in 120 days, B and C together can do it in 160 days.

A started the work alone, worked for 50 days and then left. Then B continued the work
alone for 70 days and then he left it. If the remaining work was finished by C alone in
130 days, then the ratio between the number of days needed by A, B, C respectively to
finish that work independently is

A eT]j·TT B \T ø£*dæ ˇø£ |üìì 120 s√E\˝ÀqT, B eT]j·TT C \T ø£*dæ Ä |üìì
160 s√E\˝ÀqT |üP]Ô #˚j·T>∑\s¡T. A ˇ+≥]>± |üì ÁbÕs¡+_Û+∫ 50 s√E\T #˚dæq ‘·s¡Tyê‘· |üì
e<ä* yÓ[flb˛j·÷&ÉT. n|ü&ÉT B ˇ+≥]>± Ä|üìì ø=qkÕ–+∫ 70 s√E\ ‘·s¡Tyê‘· n‘·qT ≈£L&Ü
<ëìì e<ä* yÓ[flb˛j·÷&ÉT. $T–*q |üìì C ̌ +≥]>± 130 s√E\˝À |üP]Ô#˚ùdÔ, n|ü&ÉT A, B, C \T
es¡Tdü>± Ä |üìì dü«‘·+Á‘·+>± |üP]Ô #˚j·TT≥≈£î |üfÒº s√E\ eT<Ûä́  ìwüŒ‹Ô

(1) 2:6:3 (2) 2:3:6

(3) 4:6:3 (4) 2:5:3

53. R and K independently can finish a piece of work in 8 hours and 12 hours respectively.
They agree to work for it in stretches of 1 hour alternately. If R begins the work at 9 a.m.,
then the time at which the work will be completed exactly is

(1) 7:00 p.m. (2) 6:30 p.m.

(3) 6:00 p.m. (4) 7:30 p.m.

R eT]j·TT K \T $&ç$&ç>± ˇø£|üìì es¡Tdü>± 8 >∑+≥\T eT]j·TT 12 >∑+≥\˝À |üP]Ô#˚j·T>∑\s¡T.
yês¡T Á|ü‹ >∑+≥≈£î ˇø£s¡T #=|üq e+‘·T\ yêØ>± ˇø£] ‘·sê«‘· ˇø£s¡T |üì#˚j·T&ÜìøÏ ˇ|üø=Hêïs¡T.
R Ä |üìì ñ<äj·T+ 9 >∑+≥\≈£î ÁbÕs¡+_ÛùdÔ, Ä |üì |üP]Ô nj˚T´≥|üŒ{ÏøÏ düeTj·T+ ø£∫Ã¤‘·+>±

(1) kÕj·T+Á‘·+ 7:00 (2) kÕj·T+Á‘·+ 6:30

(3) kÕj·T+Á‘·+ 6:00 (4) kÕj·T+Á‘·+ 7:30

54. A and B together can complete a piece of work in 36 days, while B and C together can do it
in 45 days. If A works twice as much as C, then the ratio of the efficiencies of A, B and C
respectively is

A eT]j·TT B \T ø£*dæ ˇø£ |üìì 36 s√E\˝Àq÷, B eT]j·TT C \T ø£*dæ <ëìì 45 s√E\˝ÀqT
|üP]Ô #˚j·T>∑\s¡T. C ø£+fÒ A  ¬s{Ïº+|ü⁄ |üìeT+‘·T&ÉT nsTT‘˚, n|ü&ÉT es¡Tdü>± A, B eT]j·TT C \
kÕeTs¡ú´eTT\ ìwüŒ‹Ô
(1) 3:2:6 (2) 6:5:3

(3) 2:3:1 (4) 1:3:2
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55. 1 man or 2 women or 3 boys can finish a piece of work in 132 days. The number of boys

required to assist 3 men and 6 women to finish that work in 11 days is

ˇø£ |ü⁄s¡Twüß&ÉT Ò̋<ë Ç<ä›s¡T Ád”Ô\T Ò̋<ë eTT>∑TZs¡T u≤\Ts¡T ˇø£ |üìì 132 s√E\˝À |üP]Ô #˚j·T>∑\s¡T.
eTT>∑TZs¡T |ü⁄s¡Twüß\T eT]j·TT Äs¡T>∑Ts¡T Åd”Ô\T Ä |üìì 11 s√E\˝À |üP]Ô #˚j·T{≤ìøÏ düVü‰j·T+>±
nedüs¡eTj˚T´ u≤\Ts¡ dü+K´
(1) 12 (2) 36 (3) 27 (4) 18

56. 3 men and 4 women can finish a piece of work in 16 days, while 5 men and 6 women
can finish it in 10 days. If one man and one woman together finished that work and got
Rs. 3,675, then the share of that woman (in Rs.) when the amount is divided as per the ratio
of their efficiencies is

eTT>∑TZs¡T |ü⁄s¡Twüß\T eT]j·TT q\T>∑Ts¡T Ád”Ô\T ø£\dæ ˇø£ |üìì 16 s√E\˝À |üP]Ô #˚j·T>∑\s¡T, n<˚
|üìì ◊<äT>∑Ts¡T |ü⁄s¡Twüß\T eT]j·TT Äs¡T>∑Ts¡T Ád”Ô\T ø£\dæ 10 s√E\˝À |üP]Ô #˚j·T>∑\s¡T. ˇø£
|ü⁄s¡Twüß&ÉT eT]j·TT ˇø£ Ád”Ô Ä |üìì |üP]Ô #˚dæ s¡÷. 3,675 \qT bı+~‘˚, yê] kÕeTsêú́ \ ìwüŒ‹Ô̋ À
Ä yÓTT‘êÔìï $uÛÑõ+#·>±, <ëì˝À Ä Åd”Ô yê{≤ (s¡÷bÕj·T\˝À)
(1) 1,225 (2) 2,450 (3) 1,575 (4) 1,025

57. Twenty workers can finish a piece of work in 360 days. If 20 workers begin the work and at
the end of every ten days another 20 more workers of same efficiency join them to complete
the work early, then the number of days required to finish the entire work is

Çs¡yÓ’ eT+~ ø±]à≈£î\T ˇø£ |üìì 360 s√E\˝À |üP]Ô#˚j·T>∑\s¡T. 20 eT+~ ø±]à≈£î\‘√ |üìì
ÁbÕs¡+_Û+∫, |üìì ‘·«s¡>± |üP]Ô #˚j·TT≥≈£î Á|ü‹ |ü~ s√E\ ∫es¡ n+‘˚ kÕeTs¡∆́ + >∑\ eTs√ 20

eT+~ì yê]‘√ »‘·#˚ùdÔ, Ä yÓTT‘·Ô+ |üìì |üP]Ô #˚j·T&ÜìøÏ nedüs¡eTj˚T´ s√E\ dü+K´
(1) 90 (2) 80 (3) 60 (4) 100

58. Usually, Priya travels from her home to the office with a certain speed and reaches the
office on time. As there was inspection, one day she increased her speed by 3 kmph and
reached the office 40 minutes early. On the next day, by reducing her speed by 2 kmph than
the usual speed, if she reached the office late by 40 minutes, then the distance (in kms)
from her home to the office is

kÕ<Ûës¡DeTT>± Á|æj·T ‘·q Ç+{ÏqT+&ç ø±sê´\j·TeTTq≈£î ø=+‘· ìØí‘· y˚>∑+‘√ Á|üj·÷DÏ+∫
ø±sê´\j·TeTTq≈£î dü]>±Z düeTj·÷ìøÏ #˚s¡T≈£î+≥T+~. ‘·ìF ñqï ø±s¡D+>± ˇø£ s√Eq ÄyÓT ‘·q
ẙ>±ìï >∑+≥≈£î 3 øÏ.MT. ô|+#·&É+e\q 40 ì$TcÕ\ eTT+<äT>±H̊ ø±sê´\j·÷ìøÏ #̊s¡T≈£î+~. eTs¡Tdü{Ï
s√E, ÄyÓT ‘·q y˚>±ìï kÕ<Ûës¡D y˚>∑+ ø£+fÒ >∑+≥≈£î 2 øÏ.MT. ‘·–Z+#·&É+e\q ÄyÓT ø±sê´\j·TeTTq≈£î
40 ì$TcÕ\T Ä\dǘ +>± #̊]‘̊, n|ü&ÉT ÄyÓT Ç+{ÏqT+&ç ø±sê´\j·TeTTq≈£î >∑\ <ä÷s¡+ (øÏ.MT.\˝À)
(1) 30 (2) 60 (3) 20 (4) 40
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59. A thief steals a car at 10:30 a.m. and drives away in it with a speed of 60 kmph. The theft

was discovered at 12 noon and the police started chasing the thief in the same path as he
traveled in another car with a speed of 90 kmph from the place where the car was stolen.
Then the time at which and the distance by which the police could catch the thief are

(1) 3:00 p.m., 360 kms (2) 3:30 p.m., 270 kms

(3) 3:00 p.m., 270 kms (4) 3:30 p.m., 360 kms

ñ<äj·T+ 10:30 düeTj·T+˝À ˇø£ <=+>∑ ˇø£ ø±s¡TqT <=+–*+∫ <ëì˝À >∑+≥≈£î 60 øÏ.MT. y˚>∑+‘√
q&ÉT|ü⁄ø=+≥÷ yÓfi¯ó‘·THêï&ÉT. eT<Ûë´Vü≤ï+ 12 >∑+ˆˆ\≈£î b˛©düT\T á <=+>∑‘·Hêìï ø£qT>=ì, y˚s=ø££
ø±s¡T˝À >∑+≥≈£î 90 øÏ.MT. y˚>∑+‘√ <=+>∑‘·q+ »]–q Á|ü<˚X¯+ qT+&ç <=+>∑ yÓ[flq <ë]˝ÀH˚ Ä <=+>∑qT
yÓ+ã&ç+∫Hês¡T. nsTT‘˚ b˛©düT\T Ä <=+>∑qT |ü≥Tºø=qï|üŒ{Ï düeTj·T+ eT]j·TT Ä <=+>∑
|ü≥Tºã&çq|üŒ{ÏøÏ b˛©düT yês¡T yÓ[flq <ä÷s¡+

(1) kÕ. 3:00 >∑+., 360 øÏ.MT. (2) kÕ. 3:30 >∑+., 270 øÏ.MT.

(3) kÕ. 3:00 >∑+., 270 øÏ.MT. (4) kÕ. 3:30 >∑+., 360 øÏ.MT.

60. Two trains having the same length are moving in the same direction at 54 kmph and
36 kmph respectively. If the faster train crosses a man sitting in the slower train in
40 seconds, then the time (in seconds) taken by faster train to completely cross the slower
train is

π̌ø bı&Ée⁄>∑*–q ¬s+&ÉT ¬s’fi¯ófl es¡Tdü>± >∑+≥≈£î 54 øÏ.MT. eT]j·TT 36 øÏ.MT. y˚>∑+‘√ π̌ø ~X¯̋ À
Á|üj·÷DÏdüTÔHêïsTT. ‘·≈£îÿe y˚>∑+‘√ yÓfi¯ó‘·Tqï ¬s’\T˝À ≈£Ls¡TÃqï ˇø£ e´øÏÔì, m≈£îÿe y˚>∑+>± yÓfi‚fl¬s’\T
|üP]Ô>± <ë≥T≥≈£î 40 ôdø£qT¢ |ü&ç‘˚, n|ü&ÉT m≈£îÿe y˚>∑+>± yÓfi¯ó‘·Tqï ¬s’\T, ‘·≈£îÿe y˚>∑+‘√
yÓfi¯ó‘·Tqï ¬s’\TqT |üP]Ô>± <ë≥T≥≈£î |ü≥Tº düeTj·T+ (ôd+ø£&É¢̋ À)
(1) 60 (2) 40 (3) 80 (4) 75

61. A man takes a total of 11 hours to row 26 kms upstream and 36 kms downstream. Also, he
can row 30 kms upstream and 44 kms downstream together in 13 hours. Then the ratio
between the speed of the man in still water and speed of the current is

ˇø£ e´øÏÔ Á|üyêVü≤ e´‹πsø£~X¯̋ À 26 øÏ.MT.\T eT]j·TT Á|üyêVü≤ ~X¯̋ À 36 øÏ.MT.\T Á|üj·÷DÏ+#·&ÜìøÏ
yÓTT‘·Ô+ 11 >∑+≥\T rdüTø=+{≤&ÉT. n‘·&ÉT Á|üyêVü≤ e´‹πsø£~X¯̋ À 30 øÏ.MT. eT]j·TT Á|üyêVü≤ ~X¯̋ À
44 øÏ.MT. Á|üj·÷DÏ+#·&ÜìøÏ ø£*|æ 13 >∑+≥\T rdüTø=+{≤&ÉT. nsTT‘˚ ì\ø£&É>± ñqï ˙{Ï˝À
Ä e´øÏÔ y˚>∑eTT eT]j·TT Á|üyêVü≤y˚>∑eTT\ eT<Ûä́  ìwüŒ‹Ô
(1) 3:1 (2) 2:1 (3) 4:3 (4) 3:2
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62. A person lent certain amount on simple interest. He lent 50% of that amount at 25% per

annum, 40% of the remaining at 10% per annum and the balance at 15% per annum. If he
received Rs. 6840 as interest after 2 years, then the amount (in Rs.) he lent at the rate of
10% per annum is

ˇø£ e´øÏÔ ˇø£ ì]›wüº yÓTT‘êÔìï u≤s¡Te&û¶øÏ Ç#êÃ&ÉT. n‘·qT Ä yÓTT‘·Ô+˝À 50% <ÛäHêïìï dü+e‘·‡sêìøÏ
25% #=|üq, $T–*q <ëì˝À 40% <ÛäHêìï dü+e‘·‡sêìøÏ 10% #=|üq eT]j·TT Ç+ø£q÷ $T–*q
<ÛäHêìï dü+e‘·‡sêìøÏ 15% #=|üq u≤s¡Te&û¶ô|’ n|ü>± Ç∫ÃHê&ÉT. ¬s+&ÉT dü+e‘·‡sê\ ‘·s¡Tyê‘·
n‘·qT s¡÷. 6,840 \qT  e&û¶>± bı+~‘˚, n|ü&ÉT n‘·qT dü+e‘·‡sêìøÏ 10% #=|üq e&û¶øÏ Ç∫Ãq
kıeTTà
(1) 9,000 (2) 18,000 (3) 5,400 (4) 3,600

63. The simple interest on Rs. 73,000 for 488 days at 5% per annum (in Rs.) is

s¡÷. 73,000 \ô|’ 488 s√E\≈£î dü+e‘·‡sêìøÏ 5% e&û¶ πs≥T #=|üq nj˚T´ u≤s¡Te&û¶ (s¡÷.\˝À)
(1) 5,210 (2) 4,880 (3) 5,350 (4) 5,460

64. A person got Rs. 35 lakhs as his retirement benefits. He divided this into two parts and
deposited the amounts for simple interest in the names of his two sons having the ages

1
12

2
 years and 20 years so that by the time they cross the age of 25 years, each of them will

get the same amount. If the rate of simple interest is 10% per annum, the amount (in lakhs
of rupees) he deposited in the name of his elder son is

ˇø£ e´øÏÔ n‘·ì ñ<√´>∑$s¡eTD dü+<äs¡“¤+>± s¡÷. 35 \ø£å\T bı+<ë&ÉT. Ä kıeTTàqT n‘·&ÉT ¬s+&ÉT

uÛ≤>±\T>± #˚dæ, yê{Ïì 1
12

2
 dü+e‘·‡sê\T eT]j·TT 20 dü+e‘·‡sê\T ej·TdüT‡>∑\ ‘·q Ç<ä›s¡T

≈£îe÷s¡T\ ù|s¡¢‘√ yê]øÏ 25 dü+e‘·‡sê\ ej·TdüT‡ ì+&˚Hê{ÏøÏ yês¡T düe÷q yÓTT‘·ÔÔeTTqT bı+<˚≥≥T¢
u≤s¡Te&û¶øÏ &çbÕõ{Ÿ #˚dæHê&ÉT. u≤s¡Te&û¶ πs≥T dü+e‘·‡sêìøÏ 10% nsTT‘˚, n‘·&ÉT ‘·q ô|<ä› ≈£îe÷s¡Tì
ù|s¡T‘√ &çbÕõ{Ÿ #˚dæq yÓTT‘·Ô+ (\ø£å\ s¡÷.\˝À)
(1) 12.5 (2) 22.5 (3) 21 (4) 25

65. A certain sum Rs. P amounts to Rs. 52,800 in 5 years at a simple interest of 5% per annum
and let Rs. S be the total interest accured for this period. If Rs. C is the interest at the rate
of 10% on P for 2 years compounded annually, then S – C =

ˇø£ ì]›wüº kıeTTà s¡÷. P kÕ©Hê 5% u≤s¡Te&û¶‘√ 5 dü+e‘·‡sê\≈£î 52,800 s¡÷.\ yÓTT‘·ÔeTÚ‘·T+~
eT]j·TT s¡÷. S nH˚~ á ø±\e´e~Û˝À b˛¬>’q e&û¶ yÓTT‘·Ô+ nqTø√+&ç. s¡÷. C nH˚~ P ô|’
2 dü+e‘·‡sê\≈£î 10% #=|üq kÕ©Hê …̋øÏÿ+∫q #·Áø£e&û¶ nsTT‘˚, n|ü&ÉT S – C =

(1) 1,870.40 (2) 1,689.60 (3) 1,056.60 (4) 1,080.40
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66. If the difference between the compound interest computed annually and the simple interest

on a certain principal for 3 years at 5% per annum is Rs. 305, then that principal  (in Rs.) is

dü+e‘·‡sêìøÏ 5% e&û¶ πs≥T #=|üq 3 dü+e‘·‡sê\ ø±˝≤ìøÏ ˇø£ ìØí‘· ndü\T kıeTTàô|’ e#·TÃ
u≤s¡Te&û¶ eT]j·TT kÕ©Hê >∑DÏ+∫q #·Áø£e&û¶\ eT<Ûä́ >∑\ ‘˚&Ü s¡÷. 305 nsTT‘˚, Ä kıeTTà (s¡÷.\˝À)
(1) 40,000 (2) 32,000 (3) 80,000 (4) 72,000

67. A building of worth Rs. 14,64,100 is constructed on a land of worth Rs. 6,56,100. If the
value of the building depreciates at 10% per annum and the value of the land appreciates at
10% per annum, then the time (in years) after which the values of both of them will be
equal is

s¡÷. 6,56,100 $\Te ø£*–q ˇø£ düú\+ô|’ s¡÷. 14,64,100 $\Te >∑\ ˇø£ uÛÑeqeTT ì]à+#·ã&ç+~.
uÛÑeq+ jÓTTø£ÿ $\Te kÕ©Hê 10%  ‘·>∑TZ‘·÷ eT]j·TT düú\+ $\Te kÕ©Hê 10% e+‘·Tq ô|s¡T>∑T‘·T+fÒ,
yê{Ï ¬s+&ç+{Ï $\Te\T düe÷q+ø±e{≤ìøÏ nedüs¡eTj˚T´ ø±\+ (dü+e‘·‡sê\˝À)

(1) 3 (2) 4 (3)
1

3
2

(4) 5

68. At annual compound interest, Rs. 1,200 becomes Rs. 2,400 in 5 years. The number of
years required for the same principal to become Rs. 19,200 at the same rate of annual
compound interest is

s¡÷. 1,200 \qT kÕ©Hê #·Áø£e&û¶øÏ ÇùdÔ n~ 5 dü+e‘·‡sê\˝À s¡÷. 2,400 ne⁄‘·T+~. n<˚ kÕ©Hê
#·Áø£e&û¶πs≥T‘√ n<˚ ndü\T kıeTTà s¡÷. 19,200 ø±e&ÜìøÏ |üfÒº dü+e‘·‡sê\ dü+K´
(1) 24 (2) 15 (3) 25 (4) 20

69. If the difference between the compound interests obtained by the process of compounding
annually and half yearly on a certain sum for 18 months at 10% per annum is Rs. 105, then
that sum (in Rs.) is

ø=+‘· kıeTTàô|’ 18 HÓ\\≈£î 10% kÕ©q e&û¶πs≥T #=|üq dü+e‘·‡s¡eTTqø=ø£kÕ] #·Áø£e&û¶ …̋øÏÿ+#˚
|ü<ä∆‹˝À eT]j·TT ns¡ú dü+e‘·‡s¡eTTqø=ø£kÕ] #·Áø£e&û¶ …̋øÏÿ+#˚ |ü<ä∆‹˝À e#˚Ã e&û¶\ eT<Ûä́  uÛÒ<ä+
105 s¡÷.\T nsTT‘˚, Ä kıeTTà (s¡÷.\˝À)
(1) 40,000 (2) 60,000 (3) 20,000 (4) 80,000

70. A started a business by investing Rs. 18,000 and after three months, B joined him with a
capital of Rs. 24,000. From then after six more months, C joined them with a capital of
Rs. 36,000. At the end of the year if the share of C in the profit is Rs. 12,000, then the total
profit earned (in rupees) is

s¡÷. 18,000 \ ô|≥Tºã&ç‘√ A yê´bÕs¡eTT ÁbÕs¡+_Û+∫q eT÷&ÉT HÓ\\ ‘·s¡Tyê‘· B nqTyê&ÉT
s¡÷. 24,000 ô|≥Tºã&ç‘√ Ä yê´bÕs¡+˝À n‘·ì‘√ #˚]Hê&ÉT. Ä ‘·s¡Tyê‘· eTs√ Äs¡T HÓ\\ nq+‘·s¡+,
C nqTyê&ÉT s¡÷. 36,000 ô|≥Tºã&ç‘√ Ä yê´bÕs¡+˝À yê]‘√ #˚]Hê&ÉT. dü+e‘·‡sê+‘·eTTq e∫Ãq
˝≤uÛÑ+˝À C jÓTTø£ÿ yê{≤ s¡÷. 12,000 nsTT‘˚, dü+bÕ~+∫q yÓTT‘·Ô+ ˝≤uÛÑ+ (s¡÷bÕj·T˝À¢)
(1) 96,000 (2) 72,000 (3) 45,000 (4) 60,000
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71. A and B started a business by investing Rs. 48,000 and Rs. 36,000 respectively. After

6 months, C joined them as a managing partner by investing Rs. 72,000 and a monthly
salary of Rs. 500 was paid to him from the annual profit for managing the business. If C’s
salary came out to be 10% of the annual profit, then the share of A (in Rs.) in the annual
profit is

A eT]j·TT B \T ˇø£ yê´bÕsêìï es¡Tdü>± s¡÷. 48,000 \ eT]j·TT s¡÷. 36,000 ô|≥Tºã&ç‘√
ÁbÕs¡+_Û+∫Hês¡T. 6 HÓ\\ ‘·s¡Tyê‘· s¡÷. 72,000 ô|≥Tºã&ç‘√ C  ìs¡«Vü≤D uÛ≤>∑kÕ«$T>± #˚s¡>± yê]¸ø£
˝≤uÛ≤\ qT+&ç yê´bÕs¡+ ìs¡«Væ≤+∫q+<äT≈£î n‘·ìøÏ HÓ\≈£î s¡÷. 500 J‘·+ #Ó*¢+#ês¡T. C bı+~q
J‘·+ yê]¸ø£ ˝≤uÛÑ+˝À 10% nsTT‘˚, dü+e‘·‡sê+‘· ˝≤uÛÑ+˝À A yê{≤ (s¡÷.\˝À)
(1) 8,100 (2) 12,000 (3) 10,800 (4) 16,200

72. Two persons A and B hired a field on rent for Rs. 1,800. A puts 9 horses for 7 months and 10
cows for 3 months; while B puts 18 cows for 5 months and 30 sheep for 10 months to graze
in that field. If in a day 3 horses can eat as much as 5 cows and in a day 6 cows can eat as
much as 10 sheep, then A’s share of the rent (in rupees) is

A eT]j·TT B nqT Ç<ä›s¡T e´≈£îÔ\T ˇø£ bı˝≤ìï s¡÷. 1,800 ≈£î n<Ó›≈£î rdüTø=Hêïs¡T. Ä bı\+˝À
y˚T‘· y˚Tj·T&ÜìøÏ 9 >∑TÁsê\qT 7 HÓ\\bÕ≥T eT]j·TT 10 Äe⁄\qT 3 HÓ\\bÕ≥T A ñ+#·>±,
18 Äe⁄\qT 5 HÓ\\bÕ≥T, 30 >=Á¬s\qT 10 HÓ\\bÕ≥T B Ä bı\+˝À ñ+∫Hê&ÉT. ˇø£ s√E˝À
3 >∑TÁsê\T ‹H˚ y˚T‘· 5 Äe⁄\T ‹q>∑*π> y˚T‘· |ü]e÷D≤ìøÏ düe÷q+, n<˚$<Ûä+>± ˇø£ s√E˝À
6 Äe⁄\T ‹H˚ y˚T‘· 10 >=Á¬s\T ‹q>∑*π> y˚T‘· |ü]e÷D≤ìøÏ düe÷q+ nsTT‘˚, A #Ó*¢+#·e\dæq
n<Ó›̋ À uÛ≤>∑+ (s¡÷bÕj·T˝À¢)
(1) 1,200 (2) 600 (3) 750 (4) 450

73. A and B entered into a partnership by investing Rs. 32,000 and Rs. 24,000 respectively.
After 3 months, A withdrew Rs. 10,000, while B invested Rs. 10,000 more. From then after
3 more months C joined the business with a capital of Rs. 42,000. If the total annual profit
is Rs. 26,400, then in that profit the share of B exceeds that of C by Rs.

A eT]j·TT B  \T ø£\dæ es¡Tdü>± s¡÷. 32,000 eT]j·TT s¡÷. 24,000 ô|≥Tºã&ÉT\‘√ ̌ ø£ yê´bÕsêìï
ÁbÕs¡+_Û+∫Hês¡T. 3 HÓ\\ ‘·s¡Tyê‘·, s¡÷. 10,000 \qT A yÓqø£≈£î rdæø=q>±, B n<äq+>±
s¡÷. 10,000 \qT ô|≥Tºã&ç>± ô|{≤º&ÉT. Ä ‘·sê«‘· eTs√ 3 HÓ\\ nq+‘·s¡+ C nqTe´øÏÔ s¡÷. 42,000

ô|≥Tºã&ç‘√ Ä yê´bÕs¡+˝À uÛ≤>∑kÕ«$T>± #˚sê&ÉT. dü+e‘·‡sê+‘·+˝À yÓTT‘·Ô+ ˝≤uÛÑ+ s¡÷. 26,400

nsTT‘˚, Ä ˝≤uÛÑ+˝À C yê{≤ ø£+fÒ B yê{≤øÏ n<ääq+>± e#˚Ã kıeTTà (s¡÷bÕj·T˝À¢)
(1) 3,600 (2) 4,500 (3) 4,800 (4) 2,400
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74. Teja, Deepu and Kanth invested Rs. 0.8, 1.2 and 1.6 lakhs respectively in a business. Teja

gets 10% of the profit to maintain the business and the remaining profit is shared among
the three in the ratio of their investments. If the total profit earned is Rs. 1,20,000 in one
year, then Teja’s total share in the profit (in Rs.) is

ˇø£ yê´bÕs¡+˝À ‘˚», B|ü⁄ eT]j·TT ø±+‘Y\T es¡Tdü>± s¡÷. 0.8, 1.2, 1.6 \ø£å\ s¡÷bÕj·T\T ô|≥Tºã&ç
ô|{≤ºs¡T. yê´bÕs¡+ q&ÉT|ü⁄‘·Tqï+<äT≈£î>±qT ˝≤uÛÑ+˝À 10% ‘˚C≤≈£î Ç∫Ã $T–*q ˝≤uÛ≤ìï eTT>∑TZs¡÷
yê] ô|≥Tºã&ÉT\ ìwüŒ‹Ô̋ À |ü+#·T≈£î+{≤s¡T. ˇø£ dü+e‘·‡sêìøÏ e∫Ãq yÓTT‘·Ô+ ˝≤uÛÑ+ s¡÷.1,20,000

nsTT‘˚, ˝≤uÛÑ+˝À ‘˚C≤ yÓTT‘·Ô+ yê{≤ kıeTTà (s¡÷.\˝À)
(1) 24,000 (2) 36,000 (3) 32,000 (4) 2,800

75. In the given figure ABCD is a square. EFGH is the square formed by joining the midpoints
of the sides of ABCD. LMNO is the square formed by joining the midpoints of the sides of
EFGH. If a circle inscribed in the square LMNO is having the area 154 sq.cms. Then the
area of square ABCD (in sq.cms) is

ÁøÏ+~ ∫Á‘·+˝À ABCD ̌ ø£ #·‘·Ts¡Ádü+. ABCD jÓTTø£ÿ uÛÑTC≤\ eT<Ûä́  _+<äTe⁄\qT ø£\T|ü>± @s¡Œ&çq
#·‘·Ts¡Ádü+ EFGH. EFGH jÓTTø£ÿ uÛÑTC≤\ eT<Ûä́  _+<äTe⁄\qT ø£\T|ü>± @s¡Œ&çq #·‘·Ts¡Ádü+ LMNO.

LMNO q+<äT n+‘·]¢œ+#·ã&çq eè‘·ÔyÓ’XÊ\´+ 154 #·.ôd+.MT. nsTT‘˚, #·‘·Ts¡Ádü+ ABCD yÓ’XÊ\´+,
(#·.ôd+.MT.\˝À)

(1) 1568 (2) 196 (3) 784 (4) 392

76. If the perimeters of a circle, a square and an equilateral triangle are equal, which one of the
following is true?
(1) The circle has the largest area
(2) The square has the largest area
(3) The equilateral triangle has the largest area
(4) All the three have the same area

ˇø£ eè‘·ÔeTT, ˇø£ #·‘·Ts¡ÁdüeTT eT]j·TT ˇø£ düeTu≤VüQ Á‹uÛÑT»eTT\ #·T≥Tºø=\‘·\T düe÷q+>±
ñ+fÒ, á ÁøÏ+~ yêì˝À @~ dü‘·́ eTT?
(1) eè‘·ÔeTT >∑]wüº yÓ’XÊ\´eTTqT ø£*– ñ+≥T+~.
(2) #·‘·Ts¡ÁdüeTT >∑]wüº yÓ’XÊ\´eTTqT ø£*– ñ+≥T+~.
(3) düeTu≤VüQ Á‹uÛÑT»eTT >∑]wüº yÓ’XÊ\´eTTqT ø£*– ñ+≥T+~.
(4) Ä eT÷&É÷ π̌ø yÓ’XÊ\´eTT ø£*– ñ+{≤sTT.
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77. A wire would enclose an area of 1936 m2, if it is bent into a square. The wire is cut into two

pieces such that the longer piece is 3 times the smaller one in length. If the shorter piece is
bent into a circle, then the area of the circle (in square meters) is

ˇø£ r>∑qT #·‘·Ts¡ÁkÕø±s¡+>± e+∫q|ü&ÉT n~ 1936 #·.MT. yÓ’XÊ˝≤´ìï Äe]düTÔ+~. ô|<ä›eTTø£ÿ
bı&Ée⁄ ∫qïeTTø£ÿ bı&Ée⁄≈£î eT÷&ÉT ¬s≥T¢ nj˚T´≥≥T¢>± Ä r>∑qT ¬s+&ÉT eTTø£ÿ\T>± #˚kÕs¡T. ∫qï
eTTø£ÿqT eè‘·ÔeTT>± e+∫‘˚, n|ü&ÉT Ä eè‘·ÔeTT jÓTTø£ÿ yÓ’XÊ\´+ (#·<äs¡|ü⁄ MT≥s¡¢̋ À)

(1)
2

33

4

 
  

(2) 77.6875 (3)
77

8
(4) 154

78. If p1, p2, p3, p4 represent the perimeters of the rectangles A, B, C, D respectively as shown

in the figure given below, then p4 in terms of p1, p2 and p3 is equal to

ÁøÏ+~ |ü≥+˝À #·÷|æq Bs¡È#·‘·Ts¡ÁkÕ\T A, B, C, D \ #·T≥Tº ø=\‘·\qT es¡Tdü>± p1, p2, p3, p4 \‘√
dü÷∫ùdÔ, p1, p2 , p3 |ü<ë\˝À p4 øÏ düe÷q+ nj˚T´~

(1) p1 + p2 – p3 (2) p2 + p3 – p1

(3) p2 – p1 – p3 (4) p1 – p2 + p3

79. If ABCD is a square, M is the mid point of CD and the area of triangle AMD is 4 sq.units,
then the area (in sq. units) of triangle AMB is

ABCD ˇø£ #·‘·Ts¡Ádü+, CD eT<Ûä́ _+<äTe⁄ M eT]j·TT Á‹uÛÑT»+ AMD jÓTTø£ÿ yÓ’XÊ\´+ 4 #·<äs¡|ü⁄
j·T÷ìf…¢Ì‘˚, Á‹uÛÑT»+ AMB jÓTTø£ÿ yÓ’XÊ\´eTT (#·<äs¡|ü⁄ j·T÷ì≥¢̋ À)
(1) 4 (2) 8 (3) 12 (4) 16

80. In the right angled triangle ABC if AB = AC = 7 units, then the area (in sq. units) of the
circum circle of that triangle is

\+ãø√D Á‹uÛÑT»eTT ABC˝À AB = AC = 7 j·T÷ì≥T¢ nsTT‘˚, Ä Á‹uÛÑT»eTT jÓTTø£ÿ |ü]eè‘·Ô
yÓ’XÊ\´eTT (#·<äs¡|ü⁄ j·T÷ì≥¢̋ À)
(1) 24 (2) 36 (3) 77 (4) 99

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


21-A

R-5

*R5-A-21**R5-A-21*

Booklet Code A
81. If the length of a rectangle is decreased by 10 ft. and breadth is increased by 5 ft., then

that rectangle becomes a square and the area of the rectangle is reduced by 210 sq.ft. The
area (in sq.ft.) of that rectangle is

ˇø£ Bs¡È#·‘·Ts¡Ádü+ jÓTTø£ÿ bı&Ée⁄˝À 10 n&ÉT>∑T\T ‘·–Z+∫, yÓ&É\TŒqT 5 n&ÉT>∑T\T ô|s∫‘̊ n|ü&ÉT
Ä Bs¡È#·‘·Ts¡Ádü+ ̌ ø£ #·‘·Ts¡Ádü+>± e÷s¡T‘·T+~ eT]j·TT Ä Bs¡È#·‘·Ts¡Ádü yÓ’XÊ\´+ 210 #·. n. ‘·>∑TZ‘·Ts~.
Ä Bs¡È#·‘·Ts¡Ádü+ jÓTTø£ÿ yÓ’XÊ\´+ (#·. n.\˝À)

(1) 2614 (2) 2444 (3) 2914 (4) 2544

82. If the price per foot for constructing a fence is Rs. 72, then the cost (in Rs.) of constructing
a fence around a square plot with an area 361 sq.ft. is

ˇø£ ø£+#ÓqT ì]à+#·&ÜìøÏ n&ÉT>∑Tq≈£î s¡÷. 72 Ks¡TÃ nsTT‘˚, 361 #·<äs¡|ü⁄ n&ÉT>∑T\ yÓ’XÊ\´+>∑\
#·‘·Ts¡ÁkÕø±s¡|ü⁄ düú\+ #·T≥÷º ø£+#ÓqT ì]à+#·&ÜìøÏ nj˚T´ Ks¡TÃ (s¡÷.\˝À)
(1) 5,470 (2) 5,472 (3) 5,480 (4) 5,482

83. A person wanted to construct a horizontal water tank with iron sheet in the shape of a
cylinder exactly surmounted by a hemisphere at both the ends such that they exactly match
with the periphery of the end faces. The maximum horizontal length of the tank is 14 feet
and the diameter of the cylinder is 5 feet. The cost (in Rs.) of the iron sheet required to
construct the tank at the rate of Rs. 28 per sq. meter, is

ˇø£ øÏå‹» düe÷+‘·s¡ dü÷ú|üeTTq≈£î ¬s+&ÉT ∫es¡\ >∑\ ‘·\eTT\ n+#·T\≈£î dü]düe÷qyÓTÆq ns¡∆>√fīeTT\qT
n‹øÏ+#·ã&çq≥T¢, ˇø£ e´øÏÔ ÇqT|ü πs≈£î‘√ ˇø£ ˙{Ï ‘=f…ºqT ì]à+#ê\qTø=Hêï&ÉT. Ä ‘=f…º jÓTTø£ÿ >∑]wü˜
øÏå‹» düe÷+‘·s¡ bı&Ée⁄ 14 n&ÉT>∑T\T eT]j·TT dü÷ú|ü+ yê´dü+ 5 n&ÉT>∑T\T. ÇqT|ü πs≈£î KØ<äT
#·ˆMT≥s¡TøÏ s¡÷. 28 #=|üq, Ä ‘=f…ºqT ì]à+#·&ÜìøÏ nedüs¡yÓTÆq ÇqT|ü πs≈£î <Ûäs¡ (s¡÷.\˝À)
(1) 5,460 (2) 12,320 (3) 6,160 (4) 3,080

84. A hollow iron pipe is 21 cms long and its external diameter is 8 cm. If the thickness of the
pipe is 1 cm and iron weighs 8 grams/cubic centimeter, then the weight (in kilo grams) of
the pipe is

&=\¢>±qTqï ˇø£ ÇqT|ü ô|’|ü⁄ bı&Ée⁄ 21 ôd+.MT. eT]j·TT <ëì u≤Vü≤´ yê´düeTT 8 ôd+.MT. Ä ô|’|ü⁄
jÓTTø£ÿ eT+<ä+ 1 ôd+.MT. eT]j·TT ÇqTeTT |òüT.ôd+.MT.≈£î 8 Á>±eTT\ ãs¡Te⁄ ø£*– ñ+fÒ, Ä ô|’|ü⁄
jÓTTø£ÿ ãs¡Te⁄ (øÏ̋ ÀÁ>±eTT\˝À)
(1) 3696 (2) 4.78 (3) 4781 (4) 3.696
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85. A solid right circular cone is inscribed in a cube. The base diameter of the cone, the height

of the cone and the edge of the cube are equal in length. If the edge of the cube is 7 cm, then
the amount of water (in cu.cm) that can be stored in the remaining vacant space in the cube
is

ˇø£ |òüTqeTT˝À ˇø£ >∑{Ïº (solid) \+ã eèrÔj·T X¯+KTe⁄qT n+‘·]¢œ‘·+>± ñ+#ês¡T. X¯+KTe⁄
uÛÑ÷yê´düeTT, X¯+KTe⁄ m‘·TÔ eT]j·TT |òüTqeTT n+#·T\ bı&Ée⁄\T düe÷q+. |òüTqeTT jÓTTø£ÿ n+#·T
7 ôd+.MT. nsTT‘˚ Ä |òüTqeTT˝À $T–* ñqï U≤∞ n+‘·sêfi¯+˝À ì\Te#˚j·T>∑*–q ̇ {Ï |ü]e÷DeTT
(|òüTq ôd+.MT.\˝À)

(1)
1519

6
(2)

1519

3
(3)

343

3
(4)

527

6

86. A cylinder is formed by joining the edges along the breadth of a rectangular sheet of length
54 cm and breadth 44 cm. Then the ratio between the numerical values of the lateral surface
area and the volume of the cylinder thus formed is

54 ôd+.MT. bı&Ée⁄ eT]j·TT 44 ôd+.MT. yÓ&É\TŒ >∑\ ˇø£ Bs¡È#·‘·Ts¡ÁkÕø±s¡|ü⁄ w”{ŸqT yÓ&É\TŒ yÓ+ã&ç
<ëì n+#·T\qT ø£\T|ü⁄‘·÷ ˇø£ dü÷ú|üeTT>± @s¡Œ&˚≥≥T¢ #·T{ÏºHês¡T. á $<Ûä+>± @s¡Œ&çq dü÷ú|üeTT
jÓTTø£ÿ Á|üø£ÿ‘·\ yÓ’XÊ\´eTT eT]j·TT |òüTq|ü]e÷DeTT\ dü+U≤´‘·àø£ $\Te\ eT<Ûä́ >∑\ ìwüŒ‹Ô
(1) 1:1 (2) 2:3 (3) 3:7 (4) 2:7

87. If 26th January of a non-leap year falls on a Sunday, then the day on which 15th August of

that year falls is

(1) Tuesday (2) Thursday (3) Friday (4) Saturday

©|ü⁄ dü+e‘·‡s¡+ø±ì ˇø£ dü+e‘·‡s¡+˝À »qe] 26e ‘˚B Ä~yês¡yÓTÆ‘˚, n|ü&ÉT Ä dü+e‘·‡s¡+˝À
Ä>∑wüßº 15e ‘˚Bq e#˚Ã s√E
(1) eT+>∑fi¯yês¡+ (2) >∑Ts¡Tyês¡+ (3) X¯óÁø£yês¡+ (4) X¯ìyês¡+

88. A vendor sells ice cream by filling it in a conical shaped vessel with its crest taking the
shape of a hemisphere surmounted on the cone. If the radius of the hemisphere is 2 cm and
the entire volume of the Ice cream is 88 cu cm then the height of that cone is

ˇø£ yê´bÕ], ˇø£ X¯+KTe⁄ Äø±s¡|ü⁄ bÕÁ‘·̋ À ◊dtÁø°yéTqT ì+|æ <ëì eè‘êÔø±s¡ |ü]~Ûô|’ ø£∫Ã¤‘·+>±
dü]|ü&˚≥≥T¢>± uÀ]¢+∫q ns¡∆>√fi¯+ s¡÷|ü+˝À ◊dtÁø°yéTqT ñ+∫ neTTà‘ê&ÉT. ns¡ú>√fi¯+ jÓTTø£ÿ
yê´kÕs¡›eTT 2 ôd+.MT. eT]j·TT ◊dtÁø°yéT jÓTTø£ÿ yÓTT‘·Ô+ |òüTq|ü]e÷D+ 88 |òüT.ôd+.MT. nsTT‘˚
X¯+KTe⁄ jÓTTø£ÿ m‘·TÔ
(1) 19 (2) 21 (3) 15 (4) 17
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89. The height of a cuboid shaped container is 2.5 times its breadth and its volume is equal to

the sum of the volumes of 8 identical cubic shaped boxes, the length of whose edge is one-
fourth of the length of the cuboid. Then the ratio of the length, breadth and height of that
cuboid is

Bs¡È |òüTHêø±s¡+>±qTqï ˇø£ ø£+f…ÆqsY jÓTTø£ÿ m‘·TÔ, <ëì yÓ&É\TŒq≈£î 2.5 ¬s≥T¢ e⁄+~ eT]j·TT <ëì
|òüTq|ü]e÷D+, Bs¡È|òüTq+ bı&Ée⁄˝À 4 e e+‘·T bı&Ée⁄qT n+#·T>± ø£*–q 8 düs¡« düe÷q |òüTHêø±s¡
ô|f…º\ |òüTq|ü]e÷D≤\ yÓTT‘êÔìøÏ düe÷qeTT. n|ü&ÉT Ä Bs¡È|òüTq+ jÓTTø£ÿ bı&Ée⁄, yÓ&É\TŒ eT]j·TT
m‘·TÔ\ ìwüŒ‹Ô

(1) 2 2 : 2.5 : 2 (2) 4 : 2.5 : 2

(3) 2 5 :1: 2.5 (4) 5 : 2.5 : 1

90. The radii of a cone, a hemisphere and a cylinder are equal. If their total surface areas are
also equal, then the ratio of the heights of the cylinder and the cone is

ˇø£ X¯+KTe⁄, ns¡∆>√fi¯eTT eT]j·TT dü÷ú|üeTT\ yê´kÕsêú\T düe÷q+. yê{Ï dü+|üPs¡í ‘·\ yÓ’XÊ˝≤´\T
≈£L&Ü düe÷qyÓTÆ‘˚, n|ü&ÉT Ä dü÷ú|üeTT eT]j·TT X¯+KTe⁄\ m‘·TÔ\ ìwüŒ‹Ô
(1) 3 :1 (2) 1: 3 (3) 1: 2 3 (4) 2 3 :1

91. If five times the present age of a boy is less than his age after nine years, then the present
age of that boy can be

(1) 3 years (2) 2 years

(3) 3 years 3 months (4)
1

2
2

 years

ˇø£ u≤\T&ç Á|üdüTÔ‘· ej·TdüT‡q≈£î 5 ¬s≥T¢ rdüT≈£î+fÒ n~, ‘=$Tà~ dü+e‘·‡sê\ ‘·s¡Tyê‘· n‘·ì
ej·TdüT‡ ø£+fÒ ‘·≈£îÿyÓ’‘˚, Ä u≤\T&ç Á|üdüTÔ‘· ej·TdüT‡
(1) 3 dü+e‘·‡sê\T ø±e#·TÃ (2) 2 dü+e‘·‡sê\T ø±e#·TÃ

(3) 3 dü+e‘·‡sê\ 3 HÓ\\T ø±e#·TÃ (4)
1

2
2

 dü+e‘·‡sê\T ø±e#·TÃ

92. The cost of 6 pens and 7 pencils is 51 rupees. By paying two more rupees extra, if we can
buy 7 pens and 6 pencils, then the cost (in Rs.) of two pens and two pencils is

6 ô|qTï\T eT]j·TT 7 ô|ì‡fi¯fl <Ûäs¡ 51 s¡÷ˆˆ\T. eTs√ 2 s¡÷ˆˆ\T m≈£îÿe>± #Ó*¢+#·&É+ e\q eTq+
7 ô|qTï\T eT]j·TT 6 ô|ì‡fi¯flqT ø=q>∑*–‘˚, n|ü&ÉT 2 ô|qTï\T eT]j·TT 2 ô|ì‡fi¯fl <Ûäs¡ (s¡÷.\˝À)
(1) 12 (2) 16 (3) 18 (4) 8

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


24-A

R-5

*R5-A-24**R5-A-24*

Booklet Code A
93. If α is the least positive integer and β is the greatest negative integer satisfying the inequality

|3x – 5| > 7, then α + β =

|3x – 5| > 7 nH˚ ndüMTø£s¡D≤ìï ‘·è|æÔ|ü]#˚ ø£ìwüº <Ûäq|üPsêí+ø£+ α eT]j·TT >∑]wüº ãTTD |üPsêí+ø£+
β nsTT‘˚, n|ü&ÉT α + β =

(1) 3 (2) 2 (3) 5 (4) 4

94. If the integers α, β and γ satisfy the linear equations a + b + c = 2, 2a + b + 3c = 9 and
3a + 2b + 5c = 14, then 2α + 3β + 4γ =

α, β, γ \T @ø£|òü÷‘· düMTø£s¡D≤\T a + b + c = 2, 2a + b + 3c = 9 eT]j·TT 3a + 2b + 5c = 14 \qT
‘·è|æÔ|ü]#˚ |üPsêí+ø±\sTT‘˚, n|ü&ÉT 2α + 3β + 4γ =

(1) 4 (2) 5 (3) 15 (4) 8

95. A watch gains 20 seconds in every 6 minutes. It was set right at 6 a.m. In the afternoon of
the same day if the watch shows 3 hours 30 min., then the actual time is

(1) 3:00 p.m. (2) 3:09 p.m.

(3) 3:15 p.m. (4) 3:11 p.m.

ˇø£ >∑&çj·÷s¡+ Á|ü‹ 6 ì$TcÕ\≈£î 20 ôdø£qT\qT n<äq+>± #·÷|ædüTÔ+~. ñ<äj·T+ 6 >∑+≥\≈£î
<ëìì dü]jÓÆTq düeTj·÷ìï #·÷ù|≥≥T¢>± neTsêÃs¡T. n<˚ s√E eT<Ûë´Vü≤ï+ Ä >∑&çj·÷s¡+ 3 >∑+≥\
30 ì$TcÕ\qT #·÷|ædüTÔ+fÒ, n|ü&ÉT yêdüÔeyÓTÆq düeTj·T+
(1) eT<Ûë´Vü≤ï+ 3:00 >∑+≥\T (2) eT<Ûë´Vü≤ï+ 3:00 >∑+≥\ 9 ìˆˆ\T
(3) eT<Ûë´Vü≤ï+ 3:00 >∑+≥\ 15 ìˆˆ\T (4) eT<Ûë´Vü≤ï+ 3:00 >∑+≥\ 11 ìˆˆ\T

96. A watch which gains uniformly is 10 min. slow when the correct time is 10 a.m. on a day.
On the next day it shows 10 min. fast when the correct time is 1:12 a.m. The clock shows
correct time at

(1) 5:36 p.m. on the first day (2) 10:54 p.m. on the next day

(3) 12:00 noon on the next day (4) 11:35 p.m. on the first day

@ø£Ø‹>± düeTj·÷ìï n<äq+>± #·÷|æ+#˚ ˇø£ >∑&çj·÷s¡+, ˇø£ s√E dü] nsTTq düeTj·T+ ñ<äj·T+
10 >∑+≥\≈£î, 10 ìˆˆ\T ‘·≈£îÿe düeTj·÷ìï #·÷|ædüTÔ+~. eTs¡Tdü{Ï s√E dü] nsTTq düeTj·T+ sêÁ‹
1:12 >∑+≥\≈£î, 10 ìˆˆ\T m≈£îÿe düeTj·÷ìï #·÷|æk Ǫ̂+~. nsTT‘˚ Ä >∑&çj·÷s¡+ j·T<ës¡ú düeTj·÷ìï
dü÷∫+#˚~
(1) yÓTT<ä{Ïs√E kÕj·T+Á‘·+ 5:36 ≈£î (2) eTs¡Tdü{Ïs√E sêÁ‹ 10:54 ≈£î
(3) eTs¡Tdü{Ïs√E eT<Ûë´Vü≤ï+ 12:00 ≈£î (4) yÓTT<ä{Ïs√E sêÁ‹ 11:35 ≈£î
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97. At what time between 10 and 11 O’clock will the hands of a clock be in the same straight

line but not coincident?

(1)
9

16
11

 min. past 10 (2)
9

21
11

 min. past 10

(3)
9

17
11

 min. past 10 (4)
7

21
11

 min. past 10

ˇø£ >∑&çj·÷s¡+˝Àì ¬s+&ÉTeTT\T¢\T 10 eT]j·TT 11 >∑+≥\ eT<Ûä́  @ düeTj·T+˝À π̌ø düs¡fiπ̄sK˝À
ñ+≥÷, ˇø£ <ëìô|’ eTs=ø£{Ï Ò̋≈£î+&Ü ñ+{≤sTT?

(1) 10 >∑+≥\ 9
16

11
 ìˆˆ\T (2) 10 >∑+≥\ 9

21
11

 ìˆˆ\T

(3) 10 >∑+≥\ 9
17

11
 ìˆˆ\T (4) 10 >∑+≥\     7

21
11

 ìˆˆ\T

98. If 10th April of an year is a Friday, then the date on which the second Saturday of May in that
year falls is

ˇø£ dü+e‘·‡s¡+˝À @Á|æj·T Ÿ̋ 10e ‘˚~ X¯óÁø£yês¡yÓTÆ‘˚, Ä dü+e‘·‡s¡+˝À y˚T HÓ\˝Àì ¬s+&√ X¯ìyês¡+
e#˚Ã ‘˚~
(1) 8 (2) 9 (3) 10 (4) 12

99. In the year 2008, 9th May was a Friday. The day on February 14th in the same year was

(1) Thursday (2) Monday

(3) Friday (4) Wednesday

2008 dü+e‘·‡s¡+˝À ẙT 9e ‘̊~ X̄óÁø£yês¡+ nsTT+~. n<̊ dü+e‘·‡s¡+˝À |òæÁãe] 14e ‘̊Bq nj̊T´s√E

(1) >∑Ts¡Tyês¡+ (2) k˛eTyês¡+

(3) X¯óÁø£yês¡+ (4) ãT<Ûäyês¡+

100. In a sequence of 12 consecutive odd numbers, if the sum of the first 5 numbers is 425, then
the average of these 12 numbers is

12 es¡Tdü uÒdædü+K´\ ÁX‚DÏ̋ À, yÓTT<ä{Ï 5 dü+K´\ yÓTT‘·Ô+ 425 nsTT‘˚, Ä 12 dü+K´\ dü>∑≥T
(1) 90 (2) 92 (3) 94 (4) 88
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Data Analysis :

The pie-chart and table given below show the percentage of lecturers and the ratio of male to
female lecturers in categorywise of 6 subjects in a university.

Total number of lecturers : 2400

<ä‘êÔ+X¯ $X‚¢wüD: ÁøÏ+<ä Çe«ã&çq |æ̀ #êsYº eT]j·TT |ü{Ïºø£ ˇø£ $X¯́ $<ë´\j·T+˝Àì ˝…ø£Ãs¡s¡¢ XÊ‘·+ eT]j·TT
|ü⁄s¡Twüß\ eT]j·TT eTVæ≤fi≤ …̋ø£Ãs¡s¡¢ ìwüŒ‹Ôì Äs¡T düu…®≈£îº\yêØ>± #·÷|ü⁄‘·THêïsTT.
yÓTT‘·Ô+ …̋ø£Ãs¡s¡¢ dü+K´ : 2400

Lecturers Male : Female

(˝…ø£Ãs¡s¡T¢) (|ü⁄s¡Twüß\T : Åd”Ô\T)

Hindi (Væ≤+B) 5 : 3

Mathematics (>∑DÏ‘·+) 3 : 1

Zoology (»+‘·TXÊÅdüÔ+) 1 : 7

Chemistry (s¡kÕj·TqXÊÅdüÔ+) 3 : 4

Physics (uÛÖ‹ø£XÊÅdüÔ+) 3 : 5

English (Ä+>∑¢+) 2 : 1

Based on the information given, answer questions from 101 to 105.

á düe÷#ês¡+ Ä<Ûës¡+>± 101 qT+&ç 105 es¡≈£î >∑\ Á|üX¯ï\≈£î düe÷<Ûëq+ Çe«+&ç.

101. What is the total number of male lecturers in the university?

$X¯«$<ë´\j·T+˝À yÓTT‘·Ô+ |ü⁄s¡Twü …̋ø£Ãs¡s¡¢ dü+K´ m+‘·?
(1) 1212 (2) 1712 (3) 1217 (4) 1200

102. What is the difference between the number of female lecturers in Zoology and the number
of male lecturers in Mathematics?

»+‘·TXÊÅdüÔ+˝À eTVæ≤fi≤ …̋ø£Ãs¡s¡¢ dü+K´ eT]j·TT >∑DÏ‘·+˝À |ü⁄s¡Twü …̋ø£Ãs¡s¡¢ dü+K´ eT<Ûä́  >∑\ ‘˚&Ü
m+‘·?
(1) 100 (2) 152 (3) 92 (4) 96

103. The number of lecturers in Chemistry is what percent of the total number of male lecturers
in both Mathematics and Zoology?

s¡kÕj·TqXÊÅdüÔ+˝À ˝…ø£Ãs¡s¡¢ dü+K´, >∑DÏ‘· eT]j·TT »+‘·TXÊÁkÕÔ\˝À ¬s+&ç+{Ï˝Àì yÓTT‘·Ô+ |ü⁄s¡Twü
…̋ø£Ãs¡s¡¢ dü+K´˝À m+‘· XÊ‘·+?

(1) 70 (2) 64 (3) 72 (4) 76
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104. What is the ratio of the number of female lecturers in Mathematics to the number of male

lecturers in Chemistry?

>∑DÏ‘·+˝À eTVæ≤fi≤ …̋ø£Ãs¡s¡¢ dü+K´≈£î eT]j·TT s¡kÕj·TqXÊÅdüÔ+˝À |ü⁄s¡Twü …̋ø£Ãs¡s¡¢ dü+K´≈£î eT<Ûä́ >∑\
ìwüŒ‹Ô m+‘·?
(1) 2:3 (2) 1:1 (3) 2:1 (4) 4:3

105. What is the difference between the number of lecturers in Zoology and female lecturers in
Physics?

»+‘·TXÊÅdüÔ+˝À ̋ …ø£Ãs¡s¡¢ dü+K´≈£î eT]j·TT uÛÖ‹ø£XÊÅdüÔ+˝À eTVæ≤fi≤ ̋ …ø£Ãs¡s¡¢ dü+K´≈£î eT<Ûä́ >∑\ e´‘ê´dü+
m+‘·?
(1) 124 (2) 143 (3) 114 (4) 140

Examinations are conducted in 6 different subjects for different maximum marks. The following
table shows the percentage of marks obtained by six students in those six subjects.

Using this information, answer questions from 106 to 110.

Äs¡T $_Ûqï düu…®≈£îº\˝À $_Ûqï >∑]wüº e÷s¡Tÿ\≈£î |üØø£å\T ìs¡«Væ≤+#ês¡T. á ÁøÏ+~ |ü{Ïºø£, Ä Äs¡T düu…®≈£îº\˝À
Äs¡T>∑Ts¡T $<ë´s¡Tú\T kÕ~Û+∫q e÷s¡Tÿ\ XÊ‘êìï #·÷|ü⁄‘·T+~. á düe÷#ês¡+ Ä<Ûës¡+>± 106     qT+&ç 110

es¡≈£î >∑\ Á|üX¯ï\≈£î düe÷<Ûëq+ Çe«+&ç.

                  Subject Telugu English Hindi Maths General Science Social

            (düu…®≈£îº) (‘Ó\T>∑T) (Ä+>∑¢+) (Væ≤+B) (>∑DÏ‘·+) (kÕe÷q´XÊÅdüÔ+) (kÕ+|òæTø£XÊÅdüÔ+)
Student        → (out of 50) (out of 50) (out of 150) (out of 100) (out of 75) (out of 75)$<ë´]ú

(50 e÷s¡Tÿ\≈£î) (50 e÷s¡Tÿ\≈£î) (150 e÷s¡Tÿ\≈£î) (100 e÷s¡Tÿ\≈£î) (75 e÷s¡Tÿ\≈£î) (75 e÷s¡Tÿ\≈£î)
↓

Kiran (øÏs¡DY) 76 85 69 73 64 88

Hari (Vü≤]) 84 80 85 78 73 92

Prasad (Á|ükÕ<é) 82 67 92 87 69 76

Mahesh (eTùV≤wt) 73 72 78 69 58 83

Yaswant (j·TX¯«+‘Y) 68 79 64 91 66 65

Satish (dürwt) 79 87 88 93 82 72

106. The approximate average marks obtained by all the students in English is

Ä+>∑¢+˝À $<ë´s¡Tú\+<äs¡÷ kÕ~Û+∫q dü>∑≥T e÷s¡Tÿ\T düTe÷s¡T>±
(1) 31.96 (2) 36.19 (3) 38.61 (4) 39.16
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107. The total marks obtained by Satish in all the subjects are

nìï düu…®≈£îº\˝À ø£*|æ dürwt kÕ~Û+∫q yÓTT‘·Ô+ e÷s¡Tÿ\T
(1) 423.5 (2) 420.5 (3) 444.5 (4) 450

108. The approximate percentage of total marks obtained in all the subjects by Prasad is

Á|ükÕ<é nìï düu…®≈£îº\˝À bı+~q yÓTT‘·Ô+ e÷s¡Tÿ\ XÊ‘·+ s¡e÷s¡$T>±
(1) 65 (2) 82 (3) 94 (4) 76

109. The average marks of all the students in Hindi is

Væ≤+B˝À $<ë´s¡Tú\+<ä] dü>∑≥T e÷s¡Tÿ\T
(1) 128 (2) 112 (3) 119 (4) 138

110. The average percentage of marks obtained by all students in Social (Approximated to two
decimal places) is

kÕ+|òæTø£XÊÅdüÔ+˝À $<ë´s¡Tú\+<äs¡÷ kÕ~Û+∫q dü>∑≥T e÷s¡Tÿ\ XÊ‘·+ (düTe÷s¡T>± ¬s+&ÉT <äXÊ+X̄kÕúHê\≈£î)
(1) 77.45% (2) 79.33% (3) 75.52% (4) 73.52%

Direction : Fill in the blank marked (?) with a suitable positive integer given in the options
in each of the questions from 111 to 114.

dü÷#·q: 111 qT+&ç 114 es¡≈£î >∑\ Á|ü‹ Á|üX̄ï˝À (?) >∑Ts¡TÔ‘√ #·÷|æq U≤∞ì, Ç∫Ãq ◊∫Ã¤ø£+˝À
dü]jÓÆTq <Ûäq|üPsêí+ø£eTT‘√ ì+|ü+&ç.

111.

(1) 35 (2) 27 (3) 18 (4) 15

112.

(1) 8 (2) 9 (3) 10 (4) 11

113.

(1) 18 (2) 24 (3) 22 (4) 20
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114.

(1) 19 (2) 21 (3) 17 (4) 8

115. In the following figure, each cell marked with a number represents a face of a cube. Choose
the cube from the options which matches with the cube formed by folding along the sides
of the cells of the given figure.

á ~>∑Te |ü≥+˝Àì ˇø£ n+¬ø‘√ >∑T]Ô+∫q Á|ü‹>∑&û, ˇø£ |òüTq+ jÓTTø£ÿ ˇø£ eTTU≤ìï ‘Ó\T|ü⁄‘·T+~.
<ä‘·Ô |ü≥+˝Àì >∑&ÉT\ uÛÑT»eTT\ yÓ+ã&ç eT&ç∫‘˚ @s¡Œ&˚ |òüTqeTTqT dü]b˛*ñ+&˚ |òüTqeTTqT,
Ç∫Ãq ◊∫Ã¤ø±\ qT+&ç m+#·Tø√+&ç.

(1) (2)

(3) (4)

116. The four faces, other than the upper and lower faces of a dice are marked with 1, 2, 3, 4

successively in clockwise direction and the top and bottom faces are marked with 5 and 6. If

that dice is placed such that 3 appears on the top face, then the number on the bottom face is

ˇø£ bÕ∫ø£ jÓTTø£ÿ }s¡∆́ , n<Û√ eTTU≤\qT $TqVü‰sTT+#·>± $T–*q Hê\T>∑T eTTU≤\ô|’ es¡Tdü>±
düe´~X̄˝À 1, 2, 3, 4  \T sêj·Tã&çq$ eT]j·TT }s¡∆«, n<Û√ eTTU≤\ô|’ 5 eT]j·TT 6 \T sêj·Tã&çq$.
}s¡∆« eTTK+ô|’ 3 ø£ì|æ+#˚≥≥T¢>± Ä bÕ∫ø£qT ñ+∫‘˚, n|ü&ÉT <ëì n<Û√ eTTK+ô|’ ñ+&˚ n+¬ø
(1) 1 (2) 2 (3) 3 (4) 4
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Directions : Read the following information carefully and answer the questions 117-118.
A cuboid of dimensions 7 cm × 5 cm × 1 cm is painted blue on both the surfaces of dimensions
5 cm × 1 cm, yellow on both the surfaces of dimensions 7 cm × 5 cm and green on both the
surfaces of dimensions 7 cm × 1 cm. Now, the block is cut into various smaller cubes of edge
1 cm each and the smaller cubes thus obtained are separated.

dü÷#·q\T: ÁøÏ+<ä Çe«ã&çq düe÷#ês¡+qT C≤Á>∑‘·Ô>± #·~$ 117-118 Á|üX¯ï\≈£î »yêãTìe«+&ç.
7 ôd+.MT. × 5 ôd+.MT. × 1 ôd+.MT. ø=\‘·\T >∑\ ˇø£ Bs¡È|òüTq+˝À 5 ôd+.MT. × 1 ôd+.MT. ø=\‘·\T>∑\
¬s+&ÉT ñ|ü]‘·\eTT\ô|’ ˙\+, 7 ôd+.MT. × 5 ôd+.MT. ø=\‘·\T >∑\ ¬s+&ÉT ñ|ü]‘·\eTT\ô|’ |üdüT|ü⁄|ü#·Ã
eT]j·TT 7 ôd+.MT. × 1 ôd+.MT. ø=\‘·\T >∑\ ¬s+&ÉT ñ|ü]‘·\eTT\ô|’ Ä≈£î|ü#·Ã s¡+>∑T\‘√ ô|sTT+{Ÿ
y˚XÊs¡T. Ç|ü&ÉT á Bs¡È|òüTHêìï n+#·T 1 ôd+ˆˆMT.>± >∑\ ∫qï |òüTHê\T>± ø√dæ, Ç{≤¢ @s¡Œ&çq ∫qï
|òüTHê\qT y˚s¡T#˚kÕs¡T.
117. How many cubes will have atleast two different colours?

mìï |òüTHê\T ø£̇ dü+ ¬s+&ÉT $_Ûqï s¡+>∑T\qT ø£*– ñ+{≤sTT?
(1) 18 (2) 20 (3) 22 (4) 24

118. If the cubes having only blue and yellow colors and no green colour on their faces are
removed, then the remaining number of cubes is

eTTKeTT\ô|’ ˙\+ eT]j·TT |üdüT|ü⁄|ü#·Ã s¡+>∑T\qT e÷Á‘·y˚T ø£*– Ä≈£î|ü#·Ã s¡+>∑T Ò̋q{Ïº |òüTHê\qT
‘=\–ùdÔ, $T–*q |òüTHê\ dü+K´
(1) 15 (2) 20 (3) 25 (4) 29

Data for Questions 119 to 121 :
i) P, Q, R, S, T and U are six employees in a company.
ii) Q and R are shorter than U but heavier than P.
iii) S is heavier than Q and taller than R.
iv) T is shorter than S but taller than U.
v) U is heavier than S.
vi) P is shorter than T but taller than U.

119 qT+&ç 121 es¡≈£î >∑\ Á|üX¯ï\≈£î <ä‘êÔ+X¯+ :
i) P, Q, R, S, T eT]j·TT U \T ˇø£ ø£+ô|˙˝À Äs¡T>∑Ts¡T ñ<√´>∑T\T.
ii) Q eT]j·TT R \T U ø£+f… bı{Ïºyês¡T, ø±˙ P ø£+f… ãs¡TyÓ’qyês¡T.
iii) S nH˚yê&ÉT Q ø£+fÒ ãs¡TyÓ’qyê&ÉT eT]j·TT R ø£+f… bı&ÉyÓ’qyê&ÉT.
iv) S ø£+f… T bı{Ïºyê&ÉT ø±˙ U ø£+f… bı&ÉyÓ’qyê&ÉT.
v) S ø£+f… U ãs¡TyÓ’qyê&ÉT.
vi) T ø£+f… P bı{Ïºyê&ÉT ø±˙ U ø£+f… bı&ÉyÓ’qyê&ÉT.
119. Who among them is the tallest?

yê]˝À n‘·́ +‘· bı&ÉyÓ’q e´øÏÔ mes¡T?
(1) P (2) Q (3) S (4) T
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120. Who will be at the third place from the top if they are arranged in the descending order of

their heights?

yê]ì m‘·TÔ\ Ä<Ûës¡+>± nes√Vü≤D Áø£eT+˝À neT]Ã‘˚, mes¡T ô|’ qT+&ç eT÷&Ée kÕúq+˝À
ñ+{≤s¡T?
(1) R (2) P (3) Q (4) U

121. Who among them is less heavier than Q and R?

M]˝À mes¡T Q eT]j·TT R ø£+f… ‘·≈£îÿe ãs¡TyÓ’qyês¡T?
(1) U (2) R (3) S (4) P

Directions for questions 122-123 :
The second figure in the first pair of problem figures bears a certain relationship to the first
figure. Similarly, one of the figures in the answer figures bears the same relationship to the first
figure in the second pair of the problem figures. You have to identify the figure from the answer
figures which fits into the blank space and give it as your answer.

122-123 \≈£î Á|üX¯ï dü÷#·q\T:
düeTkÕ´|ü≥+ q+<ä* yÓTT<ä{Ï »‘·q+<äT >∑\ ∫Á‘ê\˝À ¬s+&Ée |ü≥eTTq≈£î yÓTT<ä{Ï|ü≥eTT‘√ ˇø£ ì]›wüº
dü+ã+<ÛäeTT >∑\<äT. n<˚$<Ûä+>±, »yêãT|ü≥eTT\q+<ä* ˇø£ |ü≥eTT, düeTkÕ´|ü≥+˝Àì ¬s+&Ée »‘·̋ Àì
yÓTT<ä{Ï|ü≥+‘√ n<˚$<ÛäyÓTÆq dü+ã+<Ûëìï ø£*– ñ+~. U≤∞ kÕúqeTT˝À dü]|ü&˚ |ü≥+qT »yêãT |ü≥eTT\
qT+&ç >∑T]Ô+∫, <ëìì MT düe÷<Ûëq+>± Çe«+&ç.
122. Problem Figures

düeTkÕ´ |ü≥eTT\T

Answer Figures

»yêãT |ü≥eTT\T

(1) B (2) A (3) C (4) D
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123. Problem Figures

düeTkÕ´ |ü≥eTT\T

Answer Figures

»yêãT |ü≥eTT\T

(1) A (2) B (3) C (4) D

Consider the following sequence containing numbers, letters and symbols. Based on this sequence,
answer the questions from 124 to 128.

dü+K´\T, nø£åsê\T, >∑Ts¡TÔ\T >∑\ á ÁøÏ+~ nqTÁø£e÷ìï rdüTø√+&ç. á nqTÁø£eT+ Ä<Ûës¡+>± 124  qT+&ç
128 es¡≈£î >∑\ Á|üX¯ï\≈£î »yêãT\T Çe«+&ç.

a b ↑ * $ A 5 @ B C D d 3 X Y # l e 9 f 7 2

124. The total number of symbols alone that lie between two letters of the English alphabet is

Ä+>∑¢ nø£ås¡e÷\˝Àì ¬s+&ÉT nø£åsê\ eT<Ûä́  πøe\+ >∑Ts¡TÔ\T e÷Á‘·ẙT ñ+fÒ, Ä yÓTT‘·Ô+ >∑Ts¡TÔ\ dü+K´
(1) 3 (2) 4 (3) 2 (4) 5

125. In the given string, out of the three types of elements namely numbers, letters and symbols,
the number of pairs, where one type of element is followed by another type of element is

Ç∫Ãq nqTÁø£eT+˝À, dü+K´\T, nø£åsê\T eT]j·TT >∑Ts¡TÔ\T nH̊ eT÷&ÉT s¡ø±\≈£î #Ó+~q eT÷\ø±\˝À,
ˇø£ s¡ø±ìøÏ #Ó+~q eT÷\ø±ìøÏ yÓqTyÓ+≥H˚ y˚s=ø£ s¡ø±ìøÏ #Ó+~q eT÷\ø£+ ñ+&˚≥≥T¢>± ñqï
»‘·\ dü+K´
(1) 12 (2) 8 (3) 10 (4) 13

126. If the five integers that appear from right to left are replaced by the vowels a, e, i, o, u in that
order, then the number of times two vowels come together is

≈£î&ç qT+&ç m&ÉeT yÓ’|ü⁄q≈£î ø£qã&˚ ◊<äT |üPs¡í dü+K´\ kÕúHê˝À¢ n#·TÃ nø£ås¡eTT\T  a, e, i, o, u \qT
n<˚ Áø£eT+˝À sêùdÔ, mìïkÕs¡T¢ ¬s+&ÉT n#·TÃ\T »‘·>± ø£*dæ ekÕÔsTT?
(1) 7 (2) 4 (3) 3 (4) 8
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127. If every symbol is replaced by the nearest letter that occurs before it, then the letter which

appears maximum number of times in the sequence thus formed is

Á|ü‹ >∑Ts¡TÔqT ‘=\–+∫ <ëì kÕúq+˝À, <ëìøÏ n‘·́ +‘· düMT|ü+˝ÀqTqï |üPs¡«|ü⁄ nø£åsêìï ñ+∫‘˚,
n˝≤ @s¡Œ&çq nqTÁø£eT+˝À n‘·́ ~Ûø£ kÕs¡T¢ ø£ì|æ+#˚ nø£ås¡+.
(1) a (2) b (3) A (4) B

128. If the 4th element from left end and 4th element from right end are interchanged, then the
number of symbols immediately succeeding a digit is

m&ÉeT yÓ’|ü⁄ qT+&ç 4e eT÷\ø±ìï eT]j·TT ≈£î&ç yÓ’|ü⁄ qT+&ç 4e eT÷\ø±ìï |üs¡düŒs¡+ e÷s¡TŒ
(‘ês¡Te÷s¡T) #˚ùdÔ, ˇø£ n+¬øqT nqTdü]dü÷Ô yÓqTyÓ+≥H˚ e#˚Ã >∑Ts¡TÔ\ dü+K´.
(1) 3 (2) 2 (3) 1 (4) 4

In each of the questions numbered 129 to 138, a sequence of numbers and/or letters, which
follow a difinite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four options given, to complete the sequence without breaking the pattern.

129 qT+&ç 138 es¡≈£î >∑\ Á|ü‹ Á|üX¯ï˝À ˇø£ ì]›wüº qeT÷Hê (|ü<ä∆‹)ì bÕ{Ï+#˚≥≥T¢ ñqï dü+K´\T
eT]j·TT/˝Ò<ë nø£åsê\‘√, nqTÁø£e÷ìï Ç#êÃs¡T. Á|ü‹ Á|üX¯ï˝À ˇø£ U≤∞ C≤>± ñ+~. Ç∫Ãq Hê\T>∑T
◊∫Ã¤ø±\ qT+&ç nqTÁø£eTìj·Te÷ìøÏ uÛÑ+>∑+ ø£\>∑≈£î+&Ü ñ+&˚≥≥T¢>± Ä U≤∞ì dü]nsTTq »yêãT‘√
|üP]+#·+&ç.
129.     6, 11, 21, 36, 56, ______

(1) 76 (2) 42 (3) 81 (4) 95

130.     6, 8, 10, 14, 18, ______, 34, 50, 66

(1) 22 (2) 26 (3) 25 (4) 24

131.     225, 336, 447, ______, 669, 7710

(1) 548 (2) 597 (3) 558 (4) 537

132.     1, 2, 5, 12, 27, 58, 121, _____

(1) 248 (2) 253 (3) 365 (4) 197

133.     2A10, 4E9, 8I7, 16M6, ____

(1) 32Q4 (2) 30U6 (3) 31U7 (4) 32U5

134. ABD, DGK, HMS, MTB, SBL, _____

(1) ZKU (2) ZBA (3) ZKW (4) ZWK
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135. BDF, CFI, DHL, _____

(1) EMI (2) CJM (3) EJO (4) EML

136. AD, EH, IL, _____, QT

(1) MP (2) MN (3) OM (4) LM

137.     2Z5, 7Y7, 14X9, 23W11, 34V13, ________

(1) 47U15 (2) 47V14 (3) 45U15 (4) 27U24

138. D, FH, LNP, ______

(1) VXZB (2) VWXZ (3) ZWUY (4) ZUVW

Directions for Questions from 139 to 143:

In each of the questions (139 to 143) there is a certain relationship between two given entries on
the left side of (: :). On the other side of (: :), one entry is given while the other entry is to be
chosen from the given options bearing the same relation with the pair of entries on the left side
of (: :) and give it as your answer.

139 qT+&ç 143 es¡≈£î >∑\ Á|üX¯ï\≈£î dü÷#·q:
139 qT+&ç 143 es¡≈£î >∑\ Á|ü‹ Á|üX̄ï˝ÀqT (: :) q≈£î m&ÉeT yÓ’|ü⁄q Ç∫Ãq ¬s+&ÉT n+X̄eTT\≈£î eT<Ûä́ q ˇø£
ì]›wüº dü+ã+<Ûä+ ñ+~. (: :) øÏ ¬s+&√ yÓ’|ü⁄q ˇø£ n+X̄eTTqT Çe«>±, eTs√ n+XÊìï <ä‘·Ô ◊∫Ã¤ø±\qT+&ç (: :)
q≈£î m&ÉeT yÓ’|ü⁄q >∑\ »‘· n+XÊ\ eT<Ûä́ >∑\ dü+ã+<Ûëìï Á|ü‹_+_+#̊≥T¢>± MTs¡T m+#·Tø=ì, <ëìì MT
»yêãT>± Çe«+&ç.

139. BCFG : HILM : : NORQ : _____

(1) TVWX (2) TXWU (3) TXUW (4) TUXW

140.     63 : 344 : : 80 : _____

(1) 511 (2) 729 (3) 513 (4) 144

141.     010409 : 321 : : ______ : 432

(1) 160904 (2) 030736 (3) 040916 (4) 160409

142. CXDW : AZBY : : GTHS : ______

(1) EVFU (2) FUET (3) ETVP (4) EVUF

143. ZYXW : DCBA : : VUTS : ______

(1) HGFE (2) EFGH (3) PQRS (4) ONML
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In each of the questions from 144 to 158, a question is followed by two statements I and II. Give
your answer as
(1), if the statement I alone can give the answer to the question;
(2), if the statement II alone can give the answer to the question;
(3), if statements I and II together only can give the answer to the question;
(4), if statements I and II together are also not sufficient to answer the question and additional
information is needed.

144 qT+&ç 158  es¡≈£î >∑\ Á|ü‹ Á|üX¯ï˝Àq÷, ˇø£ Á|üX¯ï ‘·sê«‘· ¬s+&ÉT Á|üe#·Hê\T I, II Çe«ã&çHêsTT.
Á|üe#·q+ I ‘√H˚ Ä Á|üX¯ï≈£î düe÷<ÛëqeTTqT Çe«>∑*–‘˚ (1) n˙;

Á|üe#·q+ II ‘√H˚ Ä Á|üX¯ï≈£î düe÷<Ûëq$Te«>∑*–‘˚ (2) n˙;

Á|üe#·q+ I, II \qT ¬s+&ç+{Ïì rdüTø=+fÒH˚ Ä Á|üX¯ï≈£î düe÷<Ûëq$Te«>∑*–‘˚ (3) n˙;

Á|üe#·q+ I, II  \T ¬s+&É÷ rdüTø=Hêï, Ç+ø=+‘· düe÷#ês¡eTT+fÒ ‘·|üŒ, Ä Á|üX̄ï≈£î »yêãTÇe« Ò̋eTì ìsê∆]ùdÔ
(4) n˙; MT düe÷<ÛëqeTT >± Çe«+&ç.

144. Is the quadrilateral PQRS cyclic?

#·‘·Ts¡T“¤»+ PQRS #·Áø°j·Te÷?
(I) QR = QS

(II) QPS QRS 180  

145. What is the cost of a chair?
(I) The cost of 2 chairs and 4 tables is Rs. 12,600
(II) The cost of 3 chairs and 6 tables is Rs. 18,900

ˇø£ ≈£îØÃ KØ<Ó+‘·?
(I) 2 ≈£îØÃ\T eT]j·TT 4 fÒãTfi¯fl KØ<äT s¡÷. 12,600

(II) 3 ≈£îØÃ\T eT]j·TT 6 fÒãTfi¯fl KØ<äT s¡÷. 18,900

146. Is m a prime?
(I) m leaves remainder 1 when divided by 4.
(II) m leaves remainder 6 when divided by 30.

m ˇø£ Á|ü<Ûëq dü+U≤´?
(I) m ì 4 #˚ uÛ≤–+#·>± e#˚Ã X‚wü+ 1.

(II) m ì 30 #˚ uÛ≤–+#·>± e#˚Ã X‚wü+ 6.

147. For real numbers a and b, what is the value of 8a – 5b?

yêdüÔe dü+K´\T a, b \≈£î 8a – 5b $\Te m+‘·?
(I) ab ≠ 0
(II) a2 + b2 = 0
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148. What is the value of 
2 2

2 2

a b

b c
 ?

2 2

2 2

a b

b c
  $\Te m+‘·?

(I)

2

80
a b

b c

   
 

(II) a = 3c

149. What is the area of the rectangle?
(I) The perimeter of the rectangle is 14 units.
(II) The length of its diagonal is 5 units.

Ä Bs¡È#·‘·Ts¡Ádü|ü⁄ yÓ’XÊ\´yÓT+‘·?
(I) Ä Bs¡È#·‘·Ts¡Ádü|ü⁄ #·T≥Tº ø=\‘· 14 j·T÷ì≥T¢.
(II) <ëì $ø£s¡í+ bı&Ée⁄ 5 j·T÷ì≥T¢.

150. If P, A and B are three distinct points on a circle, then what is APB?

(I) AB is a diameter of the circle.
(II) The sum of the angles of ΔPAB is 180°.

P, A, B \T ˇø£ eè‘·Ô+ MT~ eT÷&ÉT $_Ûqï _+<äTe⁄ …̋’‘˚, n|ü&ÉT APB m+‘·?
(I) Ä eè‘êÔìøÏ AB ˇø£ yê´dü+
(II) ΔPAB ˝À ø√D≤\ yÓTT‘·Ô+ 180°.

151. What is the area of the rectangle ABCD?
(I) E is the mid-point of AB.
(II) The area of Δ CDE is 60 square units.

Bs¡È#·‘·Ts¡Ádü+ ABCD yÓ’XÊ\´yÓT+‘·?
(I) AB øÏ E eT<Ûä´ _+<äTe⁄.
(II) Δ CDE jÓTTø£ÿ yÓ’XÊ\´+ 60 #·<äs¡|ü⁄ j·T÷ì≥T¢.

152. Is the positive integer n, odd?
(I) n is the square of a composite number.
(II) n is the square root of a composite number.

<Ûäq|üPsêí+ø£eTT n, uÒdædü+U≤´?
(I) n ˇø£ dü+j·TTø£Ô dü+K´ jÓTTø£ÿ es¡ZeTT.
(II) n ˇø£ dü+j·TTø£Ô dü+K´ jÓTTø£ÿ es¡ZeT÷\eTT.
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153. If the positive real numbers a, b, c, d are in a geometric progression, then what is its common

ratio?

<Ûäq yêdüÔedü+K´\T a, b, c, d ˇø£ >∑TDÁX‚&Ûç̋ À ñ+fÒ, n|ü&ÉT <ëì |ü<ëqTbÕ‘·+ m+‘·?

(I) 1
ad

bc


(II) 25
ac

bd


154. What is the median of a set S consisting of  6 positive integers?
(I) The difference between the smallest and the largest number of S is 40.
(II) The arithmetic mean of the elements of S is 15.

6 <Ûäq|üPsêí+ø±\qT ø£*–q dü$T‹ S jÓTTø£ÿ eT<Ûä́ >∑‘·eTT @~?
(I) S ˝Àì ø£ìwüº eT]j·TT >∑]wüº dü+K´\ eT<Ûä́  >∑\ uÛÒ<äeTT 40.

(II) S jÓTTø£ÿ eT÷\ø±\ n+ø£eT<Ûä́ eTeTT 15.

155. If the perimeter of a right angled ΔABC having BC as its hypotenuse is 3 3 3  units, then

what is its area?

(I) Side AC ≠ side AB.
(II) ∠ABC = 30°.

BC ø£s¡íeTT>± >∑\ ˇø£ \+ãø√D Á‹uÛÑT»eTT ABC jÓTTø£ÿ #·T≥Tºø=\‘· 3 3 3 j·T÷ì≥T¢ nsTT‘˚,
<ëì yÓ’XÊ\´eTT m+‘·?
(I) uÛÑT»eTT AC ≠ uÛÑT»eTT AB.

(II) ∠ABC = 30°.

156. When x is a positive integer, is the GCD of 150 and x a prime number?
(I) x is a prime number.
(II) x > 150.

x ̌ ø£ <Ûäq|üPsêí+ø£+ nsTTq|ü⁄&ÉT, 150 eT]j·TT x \ jÓTTø£ÿ >∑.kÕ.uÛ≤. ̌ ø£ Á|ü<Ûëq dü+K´ ne⁄‘·T+<ë?
(I) x ˇø£ Á|ü<Ûëq dü+K´.
(II) x > 150.

157. What is the surface area of the cuboid S?
(I) The dimensions of one face of the cuboid S are 2 and 3.
(II) Area of a face of the cuboid S is 9 sq. units.

Bs¡È|òüTqeTT S jÓTTø£ÿ ñ|ü]‘·\ yÓ’XÊ\´+ m+‘·?
(I) Bs¡È|òüTq+ S jÓTTø£ÿ ˇø£ eTTK+ ø=\‘·\T 2 eT]j·TT 3.

(II) Bs¡È|òüTq+ S jÓTTø£ÿ ˇø£ eTTKeTT yÓ’XÊ\´+ 9 #·̂ ˆj·T÷ì≥T¢.
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158. If x is a positive integer, is x divisible by 48?

(I) x is divisible by 8.
(II) x is divisible by 6.

x ˇø£ <Ûäq|üPsêí+ø£+ nsTT‘˚, 48 #˚‘· x uÛ≤–+|üã&ÉT‘·T+<ë?
(I) 8 #˚‘· x  uÛ≤–+|üã&ÉT‘·T+~.
(II) 6 #˚‘· x  uÛ≤–+|üã&ÉT‘·T+~.

In each of the questions 159 to 164 there are two statements labelled as Assertion (A) and Reason
(R). Give your answer as
(1), if both (A) and (R) are true and (R) is the correct explanation of (A);
(2), if both (A) and (R) are true but (R) is not the correct explanation of (A);
(3), if (A) is true but (R) is false;
(4), if (A) is false but (R) is true.
159 qT+∫ 164 es¡≈£î >∑\ Á|üX¯ï\˝À ì•Ã‘·‘·Ô «+ (A), ø±s¡D+ (R) nH˚ ¬s+&ÉT Á|üe#·Hê\qT Ç#êÃs¡T. MT
düe÷<ÛëHêìï
(A), (R) \T ¬s+&É÷ dü‘·́ eTe⁄‘·÷, (A) jÓTTø£ÿ dü]jÓÆTq $es¡D (R) nsTT‘˚ (1) n˙—
(A), (R) \T ¬s+&É÷ dü‘·́ eTe⁄‘·÷, (A) jÓTTø£ÿ dü]jÓÆTq $es¡D (R) ø±≈£î+fÒ (2) n˙—
(A) dü‘·́ y˚T, ø±˙ (R) ndü‘·́ + nsTT‘˚ (3) n˙—
(A) ndü‘·́ +, ø±˙ (R) dü‘·́ + nsTT‘˚ (4) n˙, Çe«+&ç.
159. Assertion (A) : If x:y = 2:3 and y:z = 5:4, then x:y:z = 10:15:12.

Reason (R) : If x:y = l:m and y:z = p:q, then x:y:z = lp:pm:mq.

ì•Ã‘·‘·«+ (A) : x:y = 2:3 eT]j·TT y:z = 5:4 nsTT‘˚, n|ü&ÉT x:y:z = 10:15:12.

ø±s¡DeTT (R) : x:y = l:m eT]j·TT y:z = p:q nsTT‘˚, n|ü&ÉT x:y:z = lp:pm:mq.

160. Assertion (A) : Any three diagonals of the faces of a cube always form a triangle.

Reason (R) : Any three lines forming a triangle lie in the same plane.

ì•Ã‘·‘·«+ (A) : ˇø£ |òüTqeTT jÓTTø£ÿ @ eT÷&ÉT eTTKeTT\ $ø£s¡íeTT\T nsTTHê m\¢|ü&É÷ ˇø£
Á‹uÛÑT»eTT>± @s¡Œ&ÉT‘êsTT.

ø±s¡DeTT (R) : ˇø£ Á‹uÛÑTC≤ìï @s¡Œ]#˚ @ eT÷&ÉT düs¡fi¯ πsK …̋’Hê π̌ø düeT‘·\+˝À ñ+{≤sTT.

161. Assertion (A) : For positive numbers a, b, c and d, if 
a b

b c
  and d – a = c – d, then d ≥ b.

Reason (R) : The arithmetic mean of any two positive numbers is not less than their

geometric mean.

ì•Ã‘·‘·«+ (A) : <Ûäq dü+K´\T a, b, c eT]j·TT d \≈£î a b

b c
  eT]j·TT d – a = c – d nsTT‘˚,

n|ü&ÉT d ≥ b.

ø±s¡DeTT (R) : @ ¬s+&ÉT <Ûäq dü+K´\ jÓTTø£ÿ n+ø£eT<Ûä́ eT+ nsTTHê, yê{Ï >∑TDeT<Ûä́ eT+ ø£+fÒ
‘·≈£îÿe ø±<äT.
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162. Assertion (A) : Earthworms are not good for agriculture.

Reason (R) : Earthworms break down the soil into fine particles and make it soft.

ì•Ã‘·‘·«+ (A) : e´ekÕj·÷ìøÏ yêqbÕeTT\T eT+∫$ ø±e⁄.
ø±s¡DeTT (R) : yêq bÕeTT\T eT{Ïºì dü÷ø£åàø£D≤\T>± $uÛÑ»q #˚dæ <ëìï eTè<äTe⁄>± #˚kÕÔsTT.

163. Assertion (A) : Household electric wires are not usually made with Silver.

Reason (R) : Silver is not a good conductor of electricity.

ì•Ã‘·‘·«+ (A) : >∑è¨|üjÓ÷>∑ $<äT´‘Y r>∑\qT kÕ<Ûës¡D+>± yÓ+&ç‘√ ‘·j·÷s¡T#˚j·Ts¡T.
ø±s¡DeTT (R) : yÓ+&ç ˇø£ eT+∫ $<äT´‘YyêVü≤ø£+ ø±<äT.

164. Assertion (A) : If Sn = an2 + bn + c is the sum of the first n-terms of a progression, then it
is an arithmetic progression.

Reason (R) : If the difference between the nth term and (n – 1)th term of a progression

is independent of n, then it is an arithmetic progression.

ì•Ã‘·‘·«+ (A) : Sn = an2 + bn + c nH˚~ ˇø£ ÁX‚&Ûç̋ Àì yÓTT<ä{Ï n-|ü<äeTT\ yÓTT‘·Ô+ nsTT‘˚, n~
ˇø£ n+ø£ ÁX‚&Ûç.

ø±s¡DeTT (R) : ˇø£ ÁX‚&Ûç̋ Àì n e |ü<ä+ eT]j·TT (n – 1) e |ü<äeTT\ uÛÒ<äeTT  n ô|’ Ä<Ûës¡|ü&Éø£b˛‘˚
n|ü&ÉT n~ ˇø£ n+ø£ÁX‚&Ûç.

Directions for the questions from 165 to 174 :
Three of the following four given options are alike in a certain way and form a group. Identify the
one that does not fit with this group and write it as your answer.

165 qT+&ç 174 es¡≈£î >∑\ Á|üX¯ï\≈£î dü÷#·q:
~>∑Teq Ç∫Ãq Hê\T>∑T ◊∫Ã¤ø±\˝À eT÷&ÉT ˇø£ ì]›wü˜ Ø‹˝À ˇø£ düeTT<ëj·T+>± @s¡Œ&É‘êsTT. á
düeTT<ëj·T+˝À dü]|ü&Éì Ò̋<ë ÇeT&Éì ◊∫Ã¤ø£eTTqT >∑T]Ô+∫ <ëìì MT »yêãT>± Çe«+&ç.
165.

(1) John Keats (2) Leo Tolstoy
(3) William Wordsworth (4) Alfred Tennyson
(1) C≤Hé ø°{Ÿ‡ (2) *jÓ÷ {≤ Ÿ̋kÕºjYT
(3) $*j·TyéT esY¶‡esYÔ (4) Ä˝ŸÁô|ò&é f…ìïdüHé

166.
(1) Median (2) Mean
(3) Frequency distribution (4) Mode
(1) eT<Ûä´>∑‘·eTT (2) n+ø£eT<Ûä´eT+
(3) bÂq'|ü⁄q´ $uÛ≤»qeTT (4) u≤VüQfi¯ø£eTT

167.
(1) Elevator (2) Staircase (3) Bridge (4) Escalator
(1) m*y˚≥sY (2) ôdºsTTsYπødt (3) Á_&é® (4) mdüÿ˝Ò≥sY
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168.

(1) Nephrology (2) Oncology (3) Astrology (4) Cardiology

(1) HÓÁbòÕ\J (2) Ä+ø±\J (3) nÁkÕº\J (4) ø±]¶j·÷\J

169.
(1) Bureau of Indian Standards (2) National Testing Agency
(3) NITI Aayog (4) United Nations Organisation

(1) ã÷´s√ Ä|òt Ç+&çj·THé kÕº+&ÉsY¶‡ (2) H˚wüq Ÿ̋ f…dæº+>¥ @»˙‡
(3) NITI ÄjÓ÷>¥ (4) j·TTHÓ’f…&é H˚wüHé‡ Äs¡ZHÓ’CÒwüHé

170.
(1) Autocracy (2) Diplomacy (3) Theocracy (4) Bureaucracy

(1) Ä{ÀÁø£dæ (2) &çbı¢eTdæ (3) ~∏jÓ÷Áø£dæ (4) ã÷´s√Áø£dæ

171.

(1) Shoe : Leather (2) Iron : Hammer

(3) Table : Wood (4) Jewellery :  Gold

(1) wüO : ˝…<äsY (2) ◊s¡Hé : Vü‰eTsY
(3) fÒãT Ÿ̋ : e⁄&é (4) EeÁ* : >√ Ÿ̋¶

172.

(1) 15 : 125 (2) 21 : 175 (3) 18 : 150 (4) 26 : 200

173.

(1) (E, W) (2) (I, R) (3) (O, L) (4) (U, F)

174.

(1) Chisel : Carve (2) Auger : Bore (3) Saw : Cut (4) Gun : Bullet

(1) ∫õ Ÿ̋ : ø±sY« (2) Ä>∑sY : uÀsY (3) kÕ : ø£{Ÿ (4) >∑Hé : ãT …̋{Ÿ

175. One evening before Sun set, Anil and Sunil were standing apart facing each other. If Anil’s

shadow was exactly to his left, in which direction was Sunil facing?

(1) South (2) West (3) North (4) North-East

dü÷sê´düÔeTj·÷ìøÏ eTT+<äT ˇø£ kÕj·T+Á‘·+ nì˝Ÿ eT]j·TT düTì˝Ÿ ˇø£] qT+&ç eTs=ø£s¡T ø=+‘·
<ä÷s¡+˝À m<äT¬s<äTs¡T>± ì\ã&ç ñHêïs¡T. nì Ÿ̋ jÓTTø£ÿ ˙&É dü]>±Z n‘·ì m&ÉeTyÓ’|ü⁄ ñ+fÒ, düTì Ÿ̋
@ ~≈£îÿq≈£î n_ÛeTTK+>± ñHêï&ÉT?
(1) <äøÏåD+ (2) |ü&ÉeTs¡ (3) ñ‘·Ôs¡+ (4) áXÊq´+
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Direction for questions 176-177 : Study the following data carefully.
P, Q, R, S and T are standing in a ground facing the North as follows:
P is 30 mts. to the right of Q.
R is 100 mts. to the North of S.
P is 60 mts. to the left of T.
S is 60 mts. to the South of P.

176-177  Á|üX¯ï\≈£î dü÷#·q : á ÁøÏ+~ <ä‘êÔ+X¯eTTqT C≤Á>∑‘·Ô>± n<Ûä́ j·Tq+ #˚j·TTeTT.
P, Q, R, S eT]j·TT T \T ̌ ø£ yÓTÆ<ëq+˝À ñ‘·Ôs¡ ~X̄≈£î n_ÛeTTK+>± ‹]– á ÁøÏ+~ $<Ûä+>± ì\ã&çj·TTHêïs¡T:
Q øÏ ≈£î&çyÓ’|ü⁄q 30 MT. <ä÷s¡+˝À P ñHêï&ÉT.
S øÏ ñ‘·Ôs¡eTT yÓ’|ü⁄q 100 MT. <ä÷s¡+˝À R ñHêï&ÉT.
T øÏ m&ÉeT yÓ’|ü⁄q 60 MT. <ä÷s¡+˝À P ñHêï&ÉT.
P øÏ <äøÏåDeTT yÓ’|ü⁄q 60 MT. <ä÷s¡+˝À S ñHêï&ÉT.
176. The person to the South-West of the person who is to the right of P is

P øÏ ≈£î&çyÓ’|ü⁄q ñqï e´øÏÔøÏ HÓ’s¡T‹ ~X¯̋ À ñqï e´øÏÔ
(1) Q (2) R (3) T (4) S

177. A boy starting from Q moved on a straight path to reach R and then from R to P on a straight
way. Finally he reached T from P on a straight path. The total distance (in meters) covered
by the boy is

ˇø£ u≤\T&ÉT Q qT+&ç ãj·T\T<˚] H˚s¡T>±qTqï e÷s¡Z+˝À R qT #˚], Ä ‘·s¡Tyê‘· nø£ÿ&ç qT+&ç
H̊s¡T>±qTqï e÷s¡Z+˝À P qT #̊sê&ÉT. n‘·&ÉT ∫es¡̋ À P qT+&ç H̊s¡T>±qTqï e÷s¡Z+˝À T qT #̊s¡T≈£îHêï&ÉT.
Ä u≤\T&ÉT Á|üj·÷DÏ+∫q yÓTT‘·Ô+ <ä÷s¡+ (MT≥s¡¢̋ À)
(1) 210 (2) 150 (3) 270 (4) 230

Directions 178 to 182 : In a certain code, the rth letter of the English alphabet, for r = 1, 2, 3, ...., 13
is coded as (2r – 1)th letter and for r = 14, 15, ..., 26, the rth letter is coded as (2r – 26)th letter.
For decoding the inverse process is followed.
By using this code, answer the questions from 178 to 182.

dü÷#·q\T 178 qT+&ç 182 es¡≈£î : ˇø£ ì]›wüº ø√&é q+<äT, Ä+>∑¢ nø£ås¡e÷\˝Àì r e nø£åsêìï, r = 1, 2, 3,

...., 13 \≈£î, (2r – 1) e nø£ås¡+>±qT eT]j·TT r = 14, 15, ..., 26 \≈£î r e nø£åsêìï (2r – 26)e
nø£ås¡+>±qT ø√&é #˚kÕÔs¡T. &ûø√&ç+>¥ #˚j·TT≥≈£î Bì $˝ÀeT Á|üÁøÏj·TqT bÕ{ÏkÕÔs¡T.
á ø√&éì ñ|üjÓ÷–+∫ 178 qT+&ç 182 es¡≈£î >∑\ Á|üX¯ï\≈£î »yêãT sêj·T+&ç.
178. The number of letters whose code is itself is

ˇø£ nø£ås¡+ jÓTTø£ÿ ø√&é n<˚ nø£ås¡+ nj˚T´ nø£åsê\ dü+K´
(1) 1 (2) 2 (3) 3 (4) 0
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179. The code for the word “REASONING” is

“REASONING” nH˚ |ü<ä+ jÓTTø£ÿ ø√&é
(1) JIALBDQBM (2) JIADLBQBM

(3) JIALDBQBM (4) JIALDBMBQ

180. The code for the word “COUNSEL” is

“COUNSEL” nH˚ |ü<ä+ jÓTTø£ÿ ø√&é
(1) EDPBLIW (2) EDPLBIW (3) EDPLBKW (4) EDLPBKW

181. The string coded as “DIRECTION” is

“DIRECTION” >± ø√&é #˚j·Tã&çq düs¡DÏ
(1) OEVCBWETH (2) GQJIEOQDB

(3) GQJEIOQBD (4) OEVCBWEHT

182. The string coded as “PROFITS” is

“PROFITS”  >± ø√&é #˚j·Tã&çq düs¡DÏ
(1) UVHPEWJ (2) UVHRGYJ (3) FJDKQNL (4) FJDMSLN

183. In a certain code language, if GUIDANCE is coded as FSFZVHVW, then the code for the
word “SHIFT” is

ˇø£ ì]›wüº ø√&é uÛ≤wü̋ À, GUIDANCE qT FSFZVHVW >± ø√&é #˚ùdÔ, n|ü&ÉT “SHIFT” nH˚ |ü<ä+
jÓTTø£ÿ ø√&é
(1) RFEBO (2) REFBO (3) RFFBO (4) RFFAN

184. If in a certain code language, MONKEY is coded as “XDJMNL” and TIGER is coded as
“QDFHS”, then the code for the word PANTHER is

ˇø£ ì]›wüº ø√&é uÛ≤wü̋ À, MONKEY ì “XDJMNL” >±qT eT]j·TT TIGER qT “QDFHS” >±qT ø√&é
#˚ùdÔ, n|ü&ÉT PANTHER nH˚ |ü<äeTTq≈£î ø√&é
(1) QDGMSOZ (2) QDGSMZO (3) QDGUOZR (4) QDGMSZO

185. In a certain code, if WINDOW is called as DOOR, DOOR is called as BED, BED is called
as AIR, AIR is called as FLOWER and FLOWER is called as COOLER, then on which one
will a man sleep?

ˇø£ ì]›wüº ø√&é ̋ À, WINDOW qT DOOR >±q÷, DOOR qT BED >±q÷, BED qT AIR >±q÷, AIR

qT FLOWER >±q÷ FLOWER qT COOLER >±q÷ |æ*ùdÔ, n|ü&ÉT ̌ ø£ eTìwæ <˚ìô|’ ìÁ~kÕÔ&ÉT?
(1) BED (2) DOOR (3) AIR (4) COOLER
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186. In a certain code language, if

‘145’ means ‘Rama is intelligent’, ‘526’ means ‘Sita is clever’.
‘247’ means ‘intelligent and clever’, then in that language the code for ‘Sita’ is

ˇø£ ì]›wüº ø√&é uÛ≤wü̋ À,
‘145’ nq>± ‘Rama is intelligent’, ‘526’ nq>± ‘Sita is clever’.

‘247’ nq>± ‘intelligent and clever’ nsTT‘˚, n|ü&ÉT Ä uÛ≤wü̋ À ‘Sita’ jÓTTø£ÿ ø√&é
(1) 5 (2) 2 (3) 6 (4) 4

187. In a certain code language if “EXAMINATION” is coded as 56149512965 and “MOBILITY”
is coded as 46293927, then the code for the word “PUBLICATION” is

ˇø£ ì]›wüº ø√&é uÛ≤wüq+<äT “EXAMINATION” qT 56149512965 >±qT eT]j·TT “MOBILITY”

qT 46293927 >±qT ø√&é #˚ùdÔ, “PUBLICATION” nH˚ |ü<ä+ jÓTTø£ÿ ø√&é
(1) 73223913965 (2) 73229321695
(3) 73223919265 (4) 73239312965

188. Raju’s mother has only two children and one of them is unmarried. Raju’s father-in-law’s
only daughter is Seema. Then Raju’s brother is related to Seema as
(1) Brother (2) Uncle

(3) Husband (4) Brother-in-law

sêE jÓTTø£ÿ ‘·*¢øÏ Ç<ä›s¡T |æ\¢\T e÷Á‘·y˚T ñHêïs¡T eT]j·TT yê]˝À ˇø£]øÏ $yêVü≤+ ø± Ò̋<äT. sêE
jÓTTø£ÿ e÷eT>±] @¬ø’ø£ ≈£îe÷¬sÔ d”eT. n|ü&ÉT d”eT≈£î sêE k˛<äs¡Tì‘√ >∑\ dü+ã+<Ûä+
(1) k˛<äs¡T&ÉT (2) ‘·*¢ Ò̋<ë ‘·+Á&ç k˛<äs¡T&ÉT
(3) uÛÑs¡Ô (4) eT]~/u≤e>±s¡T

189. If A × B means A is daughter of B,
A + B means A is father of B,
A ÷ B means A is mother of B and

A – B means A is brother of B. In view of this notation,
from the expression P ÷ Q + X – Y × Z, how is Z related to P?
(1) Mother (2) Mother-in-law
(3) Daughter-in-law (4) Daughter

A × B nq>± B jÓTTø£ÿ ≈£îe÷¬sÔ A,

A + B nq>± B jÓTTø£ÿ ‘·+Á&ç A,

A ÷ B nq>± B jÓTTø£ÿ ‘·*¢ A,

eT]j·TT A – B nq>± B jÓTTø£ÿ k˛<äs¡T&ÉT A. á dü+πø‘· |ü<ä∆‹ <äècÕº́ ,
düe÷düeTT P ÷ Q + X – Y × Z qT+&ç, P øÏ Z‘√ m{≤¢+{Ï dü+ã+<Ûä+ ñ+≥T+~?
(1) ‘·*¢ (2) n‘·Ô>±s¡T
(3) ø√&É\T (4) ≈£L‘·Ts¡T
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Directions for questions 190 to 192 :
Following conditions were laid down to get admission into M.Tech. programme in a university
for the academic year 2020-2021.
(1) The candidate must have completed 25 years as on 1.12.2020.
(2) The candidate must have passed B.Tech. with a minimum of 55% of marks.
(3) The candidate should get atleast 60% of the marks in the written test conducted.
(4) The candidate should have atleast 6 months of working experience.
In the case of an applicant who fullfill all the other conditions except,
(2) above, but has M.Sc. degree, then the candidate is to be referred to the Vice-Chancellor.

(or)
(3) above, but has more than 2 years of working experience, then the candidate is to be referred
to the Director.

190 qT+&ç 192 es¡≈£î >∑\ Á|üX¯ï\≈£î dü÷#·q\T :
2020-2021 $<ë´ dü+e‘·‡s¡eTT˝À ˇø£ $X¯«$<ë´\j·T+q+<äT M.Tech. Áb˛Á>±yéT˝À Á|üy˚X¯eTTq≈£î
$~Û+#·ã&çq ìj·Te÷\T á ÁøÏ+~ $<Ûä+>± ñHêïsTT.
(1) 1.12.2020 Hê{ÏøÏ nuÛÑ́ ]∆ ej·TdüT‡ 25 dü+e‘·‡sê\T |üP]Ô nsTT ñ+&Ü*.
(2) nuÛÑ́ ]ú ø£̇ dü+ 55% e÷s¡Tÿ\‘√ B.Tech. ñrÔs¡Tí&Ó’ ñ+&Ü*.
(3) nuÛÑ́ ]ú ìs¡«Væ≤+#·ã&çq Áyê‘·|üØø£å q+<äT ø£̇ dü+ 60% e÷s¡Tÿ\T bı+~ñ+&Ü*.
(4) nuÛÑ́ ]ú ø£̇ dü+ 6 HÓ\\T |üì nqTuÛÑe+ ø£*– ñ+&Ée …̋qT.
ˇø£y˚fi¯ <äs¡U≤düTÔ<ës¡T Ç‘·s¡ nìï wüs¡‘·T\qT HÓs¡y˚s¡Tdü÷Ô, ô|’ yê{Ï̋ À
ìj·TeT+ (2) qT HÓs¡y˚s¡Ã Ò̋q|ü&ÉT, n‘·ìøÏ M.Sc. &çÁ^ ñ+fÒ Ä nuÛÑ́ ]úì yÓ’dt #ÛêHé‡\sYøÏ ¬s|òüsY #˚j·÷*.

(˝Ò<ë)
ìj·TeT+ (3) HÓs¡y˚s¡Ã Ò̋q|ü&ÉT, n‘·ìøÏ 2 dü+e‘·‡sê\ø£+fÒ m≈£îÿe |üì nqTuÛÑe+ ñ+fÒ Ä nuÛÑ́ ]úì
&Ó’s¡ø£ºsY≈£î ¬s|òüsY #˚j·÷*.
190. Arun has been working since 2017 in Infosys after completing his B.Tech. He was born on

11.11.1996 and got 60% marks in written test. He got 47% marks in his B.Tech. Then
(1) Arun will be admitted.
(2) Arun will not be admitted.
(3) Arun’s case will be referred to the Vice-Chancellor.
(4) Data is not sufficient for taking any decision.

ns¡TDY B.Tech. |üP]Ô #̊dæ, 2017 qT+&ç ÇH√Œ¤dædt̋ À |üì#̊düTÔHêï&ÉT. n‘·&ÉT 11.11.1996 q »ìà+#ê&ÉT
eT]j·TT Áyê‘· |üØø£å̋ À 60% e÷s¡Tÿ\T bı+<ë&ÉT. B.Tech. ˝À n‘·&ÉT 47% e÷s¡Tÿ\T bı+<ë&ÉT.
n|ü&ÉT
(1) ns¡TDY Á|üy˚X¯+ bı+<äT‘ê&ÉT.
(2) ns¡TDY Á|üy˚X¯+ bı+<ä̋ Ò&ÉT.
(3) ns¡TDY $wüj·÷ìï yÓ’dt #ÛêHé‡\sY≈£î ]|òüsY #˚j·Tã&ÉT‘·T+~.
(4) @ ìs¡íj·T+ rdüTø√&Üìø° á <ä‘êÔ+X¯eTT dü]b˛<äT.
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191. Vijay got 53% of marks in B.Tech. and 63% in the written test. He has been teaching since

4 years after the completion of his M.Sc. He was born on 15.12.1984. Then
(1) Vijay will be admitted.
(2) Vijay will not be admitted.
(3) Vijay’s case will be referred to the Vice Chancellor.
(4) Vijay’s case will be referred to the Director.
$»jYT B.Tech. q+<äT 53% e÷s¡Tÿ\qT, Áyê‘· |üØø£åq+<äT 63% e÷s¡Tÿ\qT bı+<ÓqT. n‘·&ÉT
M.Sc. |üP]Ô nsTTq ‘·s¡Tyê‘·, >∑‘· Hê\T>∑T dü+e‘·‡sê\ qT+&ç uÀ<Ûäq #˚j·TT#·THêï&ÉT. n‘·&ÉT
15.12.1984 q »ìà+#ÓqT. n|ü&ÉT
(1) $»jYT Á|üy˚X¯+ bı+<äT‘ê&ÉT.
(2) $»jYT Á|üy˚X¯+ bı+<ä̋ Ò&ÉT.
(3) $»jYT $wüj·T+ yÓ’dt #ÛêHé‡\sY≈£î ]|òüsY #˚j·Tã&ÉT‘·T+~.
(4) $»jYT $wüj·T+ &Ó’¬sø£ºsY≈£î ]|òüsY #˚j·Tã&ÉT‘·T+~.

192. Viswa was born on 15.4.1990 and he got 87% marks in written test and 57% of marks in
B.Tech. He has been working in TCS for the past 2 years. Then
(1) Viswa will be admitted
(2) Viswa’s case will be referred to the Vice Chancellor.
(3) Viswa’s case will be referred to the Director.
(4) Data is insufficient for taking any decision.
$X¯«, 15.4.1990 q »ìà+#ÓqT eT]j·TT n‘·&ÉT Áyê‘· |üØø£åq+<äT 87% eT]j·TT B.Tech. q+<äT
57% e÷s¡Tÿ\qT bı+<ÓqT. >∑‘· 2 dü+e‘·‡sê\T>± n‘·&ÉT TCS q+<äT |üì#˚düTÔHêï&ÉT. n|ü&ÉT
(1) $X¯« Á|üy˚X¯+ bı+<äT‘ê&ÉT.
(2) $X¯« $wüj·TeTT yÓ’dt #ÛêHé‡\sY≈£î ]|òüsY #˚j·Tã&ÉT‘·T+~.
(3) $X¯« $wüj·TeTT &Ó’¬sø£ºsY≈£î ]|òüsY #˚j·Tã&ÉT‘·T+~.
(4) @ ìs¡íj·T+ rdüTø√e&Üìø° <ä‘êÔ+X¯+ #ê*q+‘· Ò̋<äT.

Direction 193-194 :
Seven persons P, Q, R, S, T, U and V are sitting in a row as follows:
(1) Q is to the immediate right of R.
(2) R is fourth to the right of P.
(3) S and U are immediate neighbours of T.
(4) The Person who is third to the left of S, is at one end of the row.
dü÷#·q : 193-194
@&ÉT>∑Ts¡T e´≈£îÔ\T P, Q, R, S, T, U eT]j·TT V \T á ÁøÏ+~ $<Ûä+>± ˇø£ es¡Tdü̋ À ≈£Ls=Ãìj·TTHêïs¡T.
(1) R ≈£î ≈£î&çyÓ’|ü⁄q yÓqTyÓ+≥H˚ Q ñHêï&ÉT.
(2) P øÏ ≈£î&çyÓ’|ü⁄q Hê\Ze kÕúq+˝À R ñHêï&ÉT.
(3) T ≈£î yÓqTyÓ+≥H˚ Çs¡T Á|üø£ÿ\ S eT]j·TT U \T ñHêïs¡T.
(4) S jÓTTø£ÿ m&ÉeTyÓ’|ü⁄q eT÷&ÉekÕúq+˝À >£\ e´øÏÔ, es¡Tdü̋ À ˇø£ ∫es¡q ñHêï&ÉT.
193. The persons to the right of R are

R ≈£î ≈£î&çyÓ’|ü⁄q ñqï e´≈£îÔ\T
(1) P, U (2) S, Q, V (3) Q, V (4) Q, S
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194. The persons who are on either side of that person who is exactly in the middle, are

ø£∫Ã¤‘·+>± eT<Ûä́ ˝À ≈£Ls¡TÃqï e´øÏÔøÏ Çs¡TyÓ’|ü⁄\ ñqï e´≈£îÔ\T
(1) T, R (2) S, Q (3) T, Q (4) R, S

195. For distinct integers a, b and c, the expression (a – b)c is positive if

$_Ûqï |üPsêí+ø±\T a, b, c \≈£î (a – b)c nH˚ düe÷dü+ <ÛäHê‘·àø£+ ø±e&ÜìøÏ wüs¡‘·T
(1) b = 2a (2) c = 2a (3) c = –a (4) b = –a

196. For positive integers x, y and z if the product xyz is always an even integer, then a possible
condition is
(1) x is odd (2) y is odd (3) x + y is odd (4) x + y + z is odd
<Ûäq|üPsêí+ø±\T x, y, z \≈£î \ã∆+ xyz m\¢|ü&É÷ dü]dü+K´ nsTT‘˚, kÕ<Ûä́ eTj˚T´ ˇø£ ìj·TeT+
(1) x uÒdædü+K´ (2) y uÒdædü+K´ (3) x + y uÒdædü+K´ (4) x + y + z uÒdædü+K´

197. In a class of 60 students, the number of girls is twice that of boys. Ram is ranked 17th from
the top. If there are 9 girls ahead of Ram, then the number of boys with ranks after Ram’s
rank is
60 eT+~ $<ë´s¡Tú\T >∑\ ˇø£ ‘·s¡>∑‹˝À, u≤*ø£\ dü+K´ u≤\Ts¡ dü+K´≈£î ¬s{Ïº+|ü⁄. ô|’qT+&ç

…̋øÏÿ+∫q|ü&ÉT sêyéT 17e kÕúq+˝À ñHêï&ÉT. sêyéT ø£+fÒ ô|’q 9 eT+~ ne÷àsTT\T ñ+fÒ, sêyéT
sê´+ø˘øÏ ‘·sê«‘· sê´+≈£î\qT ø£*–q u≤\Ts¡ dü+K´
(1) 12 (2) 13 (3) 9 (4) 7

198. Among the positive real numbers a, b and c, the largest will be a if
<Ûäq yêdüÔedü+K´\T a, b eT]j·TT c \˝À a n‹ ô|<ä›~ ø±e&ÜìøÏ wüs¡‘·T
(1) a b c  (2) 2a c b  (3) a + b = 2c (4) a b c 

Directions 199-200 :
Eight persons A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. B is
second to the right of D and third to the left of C. H is second to the left of E, who is also to the
immediate left of B. G is third to the left of F.

dü÷#·q\T 199-200 :

mì$T~ eT+~ e´≈£îÔ\T A, B, C, D, E, F, G eT]j·TT H\T ˇø£ >∑T+Á&Éì ã\¢ #·T≥÷º πø+Á<ë_ÛeTTK+>±
≈£Ls¡TÃHêïs¡T. B jÓTTø£ÿ kÕúq+ D øÏ ≈£î&çyÓ’|ü⁄q ¬s+&Ée~ eT]j·TT C øÏ m&ÉeTyÓ’|ü⁄q eT÷&Ée~. B øÏ
m&ÉeTyÓ’|ü⁄q yÓqTyÓ+≥H˚ ñqï E øÏ, m&ÉeTyÓ’|ü⁄q ¬s+&Ée kÕúq+˝À H ø£\&ÉT. F ≈£î m&ÉeT yÓ’|ü⁄q eT÷&Ée
kÕúq+˝À G ñHêï&ÉT.
199. The immediate neighbours of C are

C ≈£î yÓqTyÓ+≥H˚ Çs¡TyÓ’|ü⁄\ ñqïyês¡T
(1) A, F (2) A, E (3) E, F (4) G, F

200. The person sitting second to the left of A is

A ≈£î m&ÉeTyÓ’|ü⁄q ¬s+&ÉekÕúq+˝À ≈£Ls¡TÃqï e´øÏÔ
(1) F (2) G (3) B (4) E


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